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Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following is a social characteristic of a learner?

(1) Power of sensory perception
(3) Power of synthetic imagination
Options:

E453504545959. 1
64535045500, 2

(2)
(4)

Thinking ability
Ability to relate oneself with others



E4535045501. 3
64535045502, 4

Question Number : 1 Question Id : 64635011560 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E453504545959. 1
64535045500, 2
64535045501, 3
E453504550Z2. 4

Question Number : 2 Question Id : 64635011561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which i1s the characteristic of formative evaluation?

(1) Evaluation occurs at the terminal point
(2) Evaluation 1s used before programme design
(3) Evaluation relates to indicating learning outecome of teaching
(4) Evaluation is conducted during teaching
Options:
64535045503, 1
64535045504, 2
E4E35045505. 3
E4E35045506. 4

Question Number : 2 Question Id : 64635011561 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535045502, 1

64535045504, 2

64535045505, 3

64535045506, 4

Question Number : 3 Question Id : 64635011562 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Cone of Experience’ related to teaching-learning was suggested by
(1) John Dewey (2) Kilpatrick
(3) Froebel {4) Edgar Dale



Options:

64535045507, 1
64835045508, 2
E4E35045509. 2
64535045510, 4

Question Number : 3 Question Id : 64635011562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4535045507. 1
64535045508, 2
64535045509, 3
64535045510, 4

Question Number : 4 Question Id : 64635011563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study which uses role playing, simulation and self-evaluation as strategies for
adult learners is known as

(1) Pedagogy (2) Andragogy
(3) Anthropology {4) Psychology
Options:

E4E35045511. 1
E4E35045512. 2
64535045513, 3
64535045514, 4

Question Number : 4 Question Id : 64635011563 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535045511, 1
64535045512, 2
E4E35045513. 3
E4E35045514. 4

Question Number : 5 Question Id : 64635011564 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following is a non-cognitive characteristic of learner?

(1) Recalling {2) Problem solving

(3) Identifying important sensory nputs (4) Believing what is true

Options:
64535045515 1

E4E35045516. 2
E4E35045517. 3
64535045518, 4

Question Number : 5 Question Id : 64635011564 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535045515, 1
64535045516, 2
64535045517, 3
E4E35045518. 4

Question Number : 6 Question Id : 64635011565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research formats focusses on hypothesis testing and generalisations?

(1) Experimental and ex-post facto research
i(2) Intervention based action research
(3) Phenomenalogical and narrative research

(4) Case study research

Options:

4835045519, 1
E4E35045520. 2
64535045521, 5
64535045522 4

Question Number : 6 Question Id : 64635011565 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
54635045519, 1
4525045520, 2
4525045521 2
4525045522 4

Question Number : 7 Question Id : 64635011566 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following action sets best represent an action research cvele?

(1) Reflect, act, plan and observe (2) Plan, act, observe and reflect
(3) Observe, plan, reflect and act {4) Act, plan, observe and reflect
Options:

64535045523, 1
64535045524, 2
64535045525, 3
EAE35045526. 4

Question Number : 7 Question Id : 64635011566 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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: No Display Question Number :

(1)  T=a, Teai=ta, It 3 g (2) Ft=F, AT, s =

(3)  FFAFA, T, F=am A0 Tt (4) Terari=ta, Tr=F, F== AT =E

Options:

64535045523, 1
E4E35045524 2
64535045525, 5
64535045526, 4

Question Number : 8 Question Id : 64635011567 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the main feature of qualitative research?

] Avolds positivist assumptions and data analysis
(2) Subscribes to pre-existing categories
(3) Collects data in numerical form

(4) Uses empirical method of data analysis

Options:
64535045527, 1
64535045528, 2

: No Display Question Number :

Yes

Yes

Yes



E4E35045529. 3
64535045530, 4

Question Number : 8 Question Id : 64635011567 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635045527, 1

64635045528, 2

£4635045529. 3

£4835045530. 4

Question Number : 9 Question Id : 64635011568 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A good review of research literature aims at
] Subjective analysis of the content
(2) Provides information about the authors and thewr affilhations
(3) GGenerates research questions and validating those gquestions
(4) Conducts multiple task based screening

Options:

6453504552101

64535045522 2

64535045533, 3

64535045534, 4

Question Number : 9 Question Id : 64635011568 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835045531, 1
E4E35045532 2
64535045522 5
64535045534 4

Question Number : 10 Question Id : 64635011569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A researcher fails to reject the null hypothesis (Ho) in his/her research. What implications
will it carry for his/her principal research hypothesis?

(1) Accepting the research hypothesis
(2) Rejecting the research hypothesis

(3) Not talang any decision on the research hypothesis
(4) Improving the research hypothesis

Options:

645350455351

64535045536, 2

64535045527 2

64535045538, 4

Question Number : 10 Question Id : 64635011569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T TEFA AT TG T T Tehe SRR 0§ Fhe T B I6 I T T o+
THF 1 g 27
(1) 09 TIERET 1 TR o S
(2) G TEET W FAEHR F
(3) g TR WS v T S
(4) g T § HER F0T|
Options:
64635045535, 1
54635045536, 2
4535045527, 5
64535045528, 4

Sub-Section Number : 2
Sub-Section I1d: 646350546
Question Shuffling Allowed : Yes

Question Id : 64635011570 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cesticn Label | Comprehension



Read the following passage and answer guestions:

There 15 a common thread running through the unravelling of India’s statistical
system. A modern economy with sound institutions is characterised by timely dissemination
of credible data. A long term policy needs an empirical basis and issues of veracity of data
will influence investment decisions. In a country with a large population of vouth, data on
national development, especially in core sectors like agriculture, industry, health, education
and employment, will be critical Here comes the role of National Statistical Commission, a
body created to establish standards. Questioning the data veracity is a global phenomenon.
The official narrative is always guestioned by the people on the other side of the fence.
Dissemination of economic data is essential to reach out to the public who lived their reality.
Lack of data will adversely impact the quality of national policies. India must start
strengthening institutions such as the central statistical eommission. These Institutions
must be granted autonomy and insulated from external interferences. Enhanced operational
autonomy will make their work credible. An indicator of operational autonomy is their
ability to stick to a dissemination calendar regardless of what the data indicates.

Sub questions

Question Number : 11 Question Id : 64635011571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is important for a modern economy?

(1) A common thread

(2) Dissemination of credible data
(3) Unravelling of statistical svstem
(4) Selective distribution of data
Options:

64635045539 1

646535045540, 2

64635045541, 3

64535045542, 4

Question Number : 12 Question Id : 64635011572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Investment decisions are impacted by

(1) Youth population (2) National development
(3) Issues of data veracity {4) Establishment of national institutions
Options:

645350455432, 1
64535045544, 2
E4E35045545. 3
E4E35045546. 4

Question Number : 13 Question Id : 64635011573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the work of National Statistical Commission?

(1) Establishing standards (2) Questioning data veracity
(3) GQuestioning official narrative {4) Supporting the public perception
Options:

E4E35045547. 1



E4E35045548. 2
64535045545, 3
64535045550, 4

Question Number : 14 Question Id : 64635011574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How can the gquality of national policies be improved?

(1) By living reality
(2) By supporting external interferences
(3) By controlling autonomous institutions
(4) By enhanced operational freedom
Options:
E4525045551. 1
E4535045552 2
645350455535 2
64635045554 4

Question Number : 15 Question Id : 64635011575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What does the passage ultimately suggest to National Statistical Commission?

(1) Restricting policy decisions
(2) Critically examining data veraecity
(3) Stick to a calendar of data dissemination

{4) Support development in core sectors
Options:

64535045555, 1

64535045556, 2

64535045557, 3

64535045558, 4

Question Id : 64635011570 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 64635011571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I+ FRTmT + T #7071 7 27
(1) U= gmE fT=n
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Options:

4835045539, 1
E4E35045540 2
64535045541, 5
64535045542 4

Question Number : 12 Question Id : 64635011572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) I e (2) WA fa=ry
(3)  Hiwsl =+ HoAal + Hag, (4) TS HETAT I TTE
Options:

64535045543, 1
64535045544, 2
64535045545, 3
E4E3504554E. 4

Question Number : 13 Question Id : 64635011573 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35045547. 1
E4535045548. 2
64535045545, 3
64535045550, 4

Question Number : 14 Question Id : 64635011574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  =HE TR T F9 F0H

(2) =TI TEAETT 1 T T
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Options:
453504555101
64535045552, 2

E4535045553. 3
E4535045554. 4

Question Number : 15 Question Id : 64635011575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3)  ATHs TrE-T Fosl F1 T =7
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Options:
4035045555 1
646535045556 2
646535045557 3
64535045555 4

Sub-Section Number: 3
Sub-Section 1d: 646350547
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635011576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Assertion {(A) : The correlation function of mass media is vital for any society.

Reasons (R) : The mterpretational aspects that include advertising and public relations
shape and influence public opinion.

Choose the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) {A) is true, but (R) is false

(4) (A) is false, but (R) is true

Options:
45250455559 1

E4E35045560. 2
E4535045561. 3
64535045562, 4

Question Number : 16 Question Id : 64635011576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835045559, 1
4535045560, 2
64535045561, o
64535045562, 4

Question Number : 17 Question Id : 64635011577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Some of the barriers to effective communication are

i(a) Polysemy

{b) Simple language

(c) Use of Cliche’s

(d}) Easy construction of sentences

Choose the correct answer from the codes given below :

(1)  (a)and (b) (2) (b) and (¢)
(3)  (c) and (d) (4) (a)and (¢)



Options:

64535045563, 1
64835045564 2
E4E350455E5 =2
64535045566, 4

Question Number : 17 Question Id : 64635011577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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i1 fan 0 2 F HE S =9 F:)

(1)  (a) X (b) (2) () W (c)
(3) ()3T (d) (4) (a) N (o)
Options:

64535045563, 1
64535045564, 2
E4E35045565. 3
EAE35045566. 4

Question Number : 18 Question Id : 64635011578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, use of communication technology pre-supposes

(1) Inattentive audience
(2) Luxurious amblence
{3) Extrapolation of contents
(4) New forms of expression and applications
Options:
E4E25045567. 1
EAE25045568. 2
E45350455659. =
64535045570 4

Question Number : 18 Question Id : 64635011578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64835045567, 1
64535045568, 2
64535045569, o
64535045570, 4

Question Number : 19 Question Id : 64635011579 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a classroom, content produced for a specific user will lead to

(1) personality development (2) content filtering
(3) personalisation {4) general academic integration
Options:

E4535045571. 1
64535045572, 2
64535045573, 3
64535045574, 4

Question Number : 19 Question Id : 64635011579 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535045571, 1
EAE35045572. 2
E4E35045573. 3
64535045574, 4

Question Number : 20 Question Id : 64635011580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The sequential order of elements in classroom communication is

(1) knowledge, interest, evaluation, awareness
(2) awareness, interest, evaluation, knowledge
(3) evaluation, awareness, knowledge, interest

(4) interest, knowledge, evaluation, awareness

Options:



E4535045575. 1
64535045576, 2
64535045577, 3
64535045578, 4

Question Number : 20 Question Id : 64635011580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(4) 4, TH, TEATEA, TIEED
Options:
64635045575, 1
64535045576, 2
64535045577, 5
64535045578, 4

Question Number : 21 Question Id : 64635011581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the missing term out of the following :
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PFQ
Options:

64535045575, 1
64535045580, 2
64535045581, 3
E4E35045582. 4

Question Number : 21 Question Id : 64635011581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FtatEd § 5 Jega T
JAK, KBL, LCM, MDN,

(1)  OEP (2) NEO
(3) MEN (4) PEQ
Options:

64535045579, 1
64535045580, 2
64535045581, 3
EAE35045582. 4



Question Number : 22 Question Id : 64635011582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the numhber 34axy is divisible by 90, then (x + 1) =7

(1) g (2) 8
) I (4) 6
Options:

E4E35045583. 1
E4535045584. 2
64535045585, 3
64535045586, 4

Question Number : 22 Question Id : 64635011582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ife & 346¢y 90U =2 %, A (x+ y) =7

i1y B (2) 8
(3) 7 4) 6
Options:

E4E35045583. 1
E4535045584. 2
64535045585, 3
64535045586, 4

Question Number : 23 Question Id : 64635011583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
On a map, 1inch represents 250 miles. What is the actual distance between two cities if they

are 4% inches apart on the map?

(1) 1100 miles (2) 1125 miles
(3) 1150 miles (4) 1200 miles
Options:

64535045587, 1
64535045588, 2
E4E35045589. 3
E4E35045530. 4

Question Number : 23 Question Id : 64635011583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Foefl AT T 1 % 250 T T O B A T A WA T F A=A G 4Z TR

ST Wi o ATl g T

(1) 1100 = (2) 1125w
(3) 1150 (4) 12007
Options:

64535045587, 1
64535045588, 2
64535045589, 3
E4E35045530. 4

Question Number : 24 Question Id : 64635011584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If 60% of (a—b)=40% of (a+b), then what percent of @ is b?

(1) 20% (2) 25%
(3) 40% (4) 50%
Options:

645350455591, 1
645350455382, 2
64535045533, 3
E4E35045554. 4

Question Number : 24 Question Id : 64635011584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e (a—b) F 60%=40% = (a+b) &, d a 1 b T Hia=d gm ?

(1) 20% {2) 25%
(3) 40% (4) 50%
Options:

64535045591, 1
645350455392, 2
E4E350455583. 3
E4E35045594. 4

Question Number : 25 Question Id : 64635011585 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What will be the ratio of simple interest earned by certain amount at the same rate of
mterest for 8 years and that for 12 years?

(1) 3:4 2y 23
(3) 4:3 (4) Data inadeqguate
Options:

54535045555, 1



E4E350455396. 2
64535045557, 3
645350455358, 4

Question Number : 25 Question Id : 64635011585 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FRET 0T8T 70 9 99 #1279 =k TofU U JHTE =471 &1 ° ATeid HrgTo s47] I FI97d F47 i 7

() a4 (%5 23
(3) 4:3 (4) FATHE AT 3
Options:

64535045595, 1
64535045596, 2
E4E350455597. 3
E4E350455398. 4

Question Number : 26 Question Id : 64635011586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘All Judges are fairminded’ is an example of proposition.

(1) Universal affirmative (2) TUniversal negative

(3) Particular affirmative (4) Particular negative
Options:

E4E35045599. 1
E4E35045600. 2
645350456801, 3
64535045602, 4

Question Number : 26 Question Id : 64635011586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘gt =TT vy g o T FEE B

(1) ==y b8y (2) T Ty

(3) AtaTee e (4) Tafime Frg
Options:

E4535045599. 1
645350456800, 2
64535045601, 3
64535045602, 4

Question Number : 27 Question Id : 64635011587 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following arguments ‘the relation that exists between premises and
conclusion is that of logical necessity™?

(1) Inductive (2) Deductive
(3) Demonstrative (4) Analogical
Options:

E4E35045603. 1
E4E35045604. 2
645350456805, 3
64535045606, 4

Question Number : 27 Question Id : 64635011587 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fetatiad oA Tieaai § “aaR 999 A1 ke & 9§19 5 994 g ¢ 9% alled A-Erddr 1 g 8

(1)  FFEATES (2) A=
()  TEEAEE (4) HIETIAF
Options:

E4E35045603. 1
E4E35045604. 2
E4535045605. 3
645350456806, 4

Question Number : 28 Question Id : 64635011588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left
of D. Cis between A and B. F is between E and A. Who is to the right of C?

(1) A (2) B
(3 D (4 E
Options:

64535045607, 1
64535045608, 2
64535045609, 3
E4E35045610. 4

Question Number : 28 Question Id : 64635011588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEAA B,C.D,EAN FUag a0 § &z ol AL 4@ gU A2 E, D H ardff A3 C, A dR =+
fFHF 2 FEFNAFTIHE 2 CF gl AL FAR?

1) A (2) B
(3 D (4) E
Options:

64535045607, 1
E4E35045608. 2



E4E35045608. 3
64535045610, 4

Question Number : 29 Question Id : 64635011589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Inference (anumana) in Indian Logic is rooted in

(1) variable relation between minor term and major term

(2) mmvariable relation between middle term and minor term

(3) variable concomitance between middle term and major term

(4) mvariable concomitance between middle term and major term
Options:

E4E35045611. 1
E4E35045612. 2
E4535045613. 3
64535045614, 4

Question Number : 29 Question Id : 64635011589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT FohEE § A 1 0d 7

(1) T 9% AN 0T 75 = &9 TiEd 99y
(2) TRl T8 I e & #g ATEG a9
(3) WISl U5 A EA UL o "= TiE) dgaidd
(4) TG Tg AN 0BT TE S A9Ed St
Options:
64635045611, 1
64635045612 2

645350456813, 3
64535045614, 4

Question Number : 30 Question Id : 64635011590 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A B C D, EandF are six members in a family in which there are two married couples.
E, a teacher is married to the doctor who 1s the mother of C and F. B, the layer 15 married to
A A has one son and one grandson. Of the two married ladies one 1s a housewife. There 15
also one student and one male engineer in the family. How is A related to C?

(1) Grandfather {2) DMlother
(3) Sister (4) Grandmother
Options:

E4535045615. 1
645350456816, 2
64535045617, 3
64535045618, 4



Question Number : 30 Question Id : 64635011590 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

% TER § A, B, C, D, E 3 F =: 9257 £ fomd & 3t femfeg <0t #1 E = o fonges 2, =71 fomme
SHAHEM A CANFARA MU BA AR F A AT g2 AF F T AN 3 2| &
feaTrEa ATgenaT O | U U1 7| TN 5 U i o T S S o 21 A CH 347 599 7 ¢

(1) &g (2) =@
(3 T (4) =T
Options:

E4535045615. 1
E4535045616. 2
645350456817, 3
645350456158, 4

Sub-Section Number: 4
Sub-Section 1d: 646350548
Question Shuffling Allowed : Yes

Question Id : 64635011591 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label @ Comprehension

Consider the following table that shows the distribution of students in two sections Aand Bin a
school aceording to the marks obtained by them. There 15 a total of 45 students in each of the
sections A and B. Answer the guestions based on the data contained in the table :

Marks obtained by students

Marks MNumber of students in
in class interval Section — A Section — B

[0-9] 2 4

[10 — 19] 5] 3]

[20 - 29] 10 g

[30 — 39] 4 4

[40 — 49] 8 7

[0 - 59] 4 5

[60 — 69] T 5

[T0 — 79] 5] 5

Sub questions

Question Number : 31 Question Id : 64635011592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the pass mark 15 30, what 15 the number of failures in both the sections together?

(1) 43 2y 35
(3) 16 4) 26
Options:

E4E35045619. 1
E4E35045620. 2
645350456821, 3
4535045622, 4



Question Number : 32 Question Id : 64635011593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the pass mark i1s 40, approximately what is the percentage of successful students mn
Section — B?

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

EAE35045623. 1
E4E35045624. 2
645350456825, 3
64535045626, 4

Question Number : 33 Question Id : 64635011594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many students in Section — A and Seection — B together have obtained marks less
than 107

(1) 10 (2 11
(3) 12 4 6
Options:

64535045627, 1
64535045628, 2
64535045629, 3
E4E35045630. 4

Question Number : 34 Question Id : 64635011595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students in Section — A have obtained 30 or more marks but less than 507

1 12 (2) 14
(3) 10 4y 13
Options:

64535045631, 1
64535045632, 2
E4E35045633. 3
E4E35045634. 4

Question Number : 35 Question Id : 64635011596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How many students in Section — A and Section — B have obtained 50 or more than 50 marks?

(1) 23 (2) 43
(3) 32 (4) 34
Options:

E4E35045635. 1



EAE35045636. 2
64535045637, 3
64535045638, 4

Question Id : 64635011591 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

fepAferfire arfers =1 fermfelat =1 Wrea #(=! & FER fa=rea § 2 #a A A B H faanfeii % faam =
297 3| el H9EH A A B 0 F 45 Tl 8| arfersn § fEu T sl % angn w weEi 1 39 den)

Ty TR s EEE
T fgv. A S B

[0 - 9] 2 4
[10 - 19] 5 5
[20-29] 10 9
[30 - 39] 4 4
[40 — 49] 8 7
[50 — 59] 4 5
[60 — 69] 7 5
[70 - 79] 5 6

Sub questions

Question Number : 31 Question Id : 64635011592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T, FAOF 30 B, T S WAl § Ao fernfea i w5 we e 20

(1) 43 (2) 35
(3) 16 (4) 26
Options:

E4535045619. 1
645350456820, 2
64535045621, 3
E4535045622. 4

Question Number : 32 Question Id : 64635011593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ITe, IHTF 40 3 HFEH B O IH9 B TTel il s 9iase o TR 77

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

64535045623, 1
645350456824, 2
64535045625, 3
64535045626, 4



Question Number : 33 Question Id : 64635011594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
O - A 31 O9F - B 24 o T faenferai 3 10 9 =59 &= 3 TRt

(1) 10 (2) 11
(3) 12 4) 6
Options:

64535045627, 1
64535045628, 2
E4E35045629. 3
E4E35045630. 4

Question Number : 34 Question Id : 64635011595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o7 - A H TR fer=nielai = 30 71 Wit 1= g 50 & 9 o+ Wied U 37

(1) 12 (2) 14
(3) 10 4y 13
Options:

E4E35045631. 1
E4E35045632. 2
64535045633, 3
64535045634, 4

Question Number : 35 Question Id : 64635011596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
O9FH - A 31T 9999 - B O Tood Toafelat 9 50 77 50 ° 19 37 Wred TeFu?

(1) 23 (2) 43
(3) 32 4) 34
Options:

64535045635, 1
E4E35045636. 2
E4E35045637. 3
64535045638, 4

Sub-Section Number: 5
Sub-Section Id: 646350549
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635011597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



While sending an e-mail, to differentiate among To : , Ce: and Bee : fields, which one of the
following statements is True?

(1) Recipients in the To : field can see the email addresses that are in the Bee : and Ce:

fields

(2) Recipients in the Ce : field can see the email addresses that are in the To - and Bee:
fields

(3) Recipients in the Bee : field can see the email addresses that are in the To : and Ce:
fields

i4) Only the recipients in the Ce : field can see the other email addresses in the Bee : field

Options:

4535045630, 1
64535045640, 2
64535045641, =
64535045642 4

Question Number : 36 Question Id : 64635011597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U S 0o 99d 509 To -, Ce : 31T Bee : Fivel § 19498 %3 & 9949 O (iaraiiad 5= § ® HE-97 951
27

(1) To:ﬁﬁﬁmﬁee:ﬁﬂe:fﬁﬁﬁﬁﬁ@mﬁﬂﬁﬂﬁiﬁmgl
(2) Cec : %ies § Wreawdl To : 3 Bee : Fiesl d Ta=m= Ha 741 =1 <@ 954 &
(3) Bee - Fieg § Wtashal To : 31T Ce - Fiesi § =@ 309 791 1 <@ T4 7
(4) Cec : e § S Wtasdl Bee : %lesl § A3 20 T4l 1 4@ Td 2|
Options:

E45350456359. 1

64535045640 2

64635045641 2

E4AB35045642 4

Question Number : 37 Question Id : 64635011598 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A group’s access to digital technology and ancther group’s lack of access to it, will cause a
disparity known as

(1) Internet inequality (2) Web inequality
(3) Technological imbalance {4) Digital divide
Options:

64535045643, 1
64535045644, 2
64535045645, 3
EAE3504564E, 4

Question Number : 37 Question Id : 64635011598 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U HHE I TEfsee Wi i Sremad A gEt g i e Agestd | S fauwdar s g 5
71 =l 2

(1) ST FEAT (2) F= FEEHA
(3) iR aEaed (4) Tefaea faar=m
Options:

64535045643, 1
64535045644, 2
64535045645, 3
EAE3504564E, 4

Question Number : 38 Question Id : 64635011599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In internet terminology, what does the acronym WYSIWYG stand for?

(1) Why You Saw Is What You Got (2) What You See Is What You Get
(3) Where You See Is Where You Got (4) What You See Is What You Got
Options:

64535045647 1

646350456458 2

64835045649 2

E4E25045650. 4

Question Number : 38 Question Id : 64635011599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T TICATTo TReraet | T 6 WYSIWYG %1 3=f gran 37

(1) ==L A T e LM (2) =eLH WmELR
(3) TEAL L A LM (4) =L H WEEZ L
Options:

E4E35045647. 1
645350456848, 2
64535045649, 3
64535045650, 4

Question Number : 39 Question Id : 64635011600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Software that vou can download for free, but have to pay to continue its use after a trial
period 1= called

(1) public domain software (2) freeware
(3) open-source software {4) shareware
Options:

E4E35045651. 1
E4E35045652. 2



E4E35045653. 3
64535045654, 4

Question Number : 39 Question Id : 64635011600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HivearT, f A9 F3les eredie 1 Hd 3, g gra9 =iy = 9=, 36 W S T % T
ATTH FTAH F T8 7, TIH Fa44 3

(1)  TEaF SHA FFeEIL (2) WA
(3)  AH-HE TiFET (4) IEEE
Options:

64535045651, 1
64535045652, 2
E4E35045653. 3
EAE35045654. 4

Question Number : 40 Question Id : 64635011601 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following computer components 1s fastest in terms of speed of access?

(1) USE Drive (2) Solid State Drive
i AT ard Ihsk Drive

3) RAW (4) Hard Disk Dn
Options:

E4E35045655. 1
E4535045656. 2
645350456857, 3
64535045658, 4

Question Number : 40 Question Id : 64635011601 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
et et Hazhl o | FH-31 5= I T = 3 H HgeE ga gt

(1) L uHH g (2) Hifas T2 IrA
(3) W (IMuW) (4) = fomr gr=
Options:

E4535045655. 1
645350456856, 2
64535045657, 3
64535045658, 4

Question Number : 41 Question Id : 64635011602 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



One of the main outcomes of the Rio +20 conference was to develop a set of

(1) Sustainable Development Goals (2) Millennium Development Goals
(3) National Development Strategy (4) National Land Restoration Strategy
Options:

E4535045659. 1
645350456860, 2
64535045661, 3
64535045662, 4

Question Number : 41 Question Id : 64635011602 Question Type: MCQ Option Shuffling

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

frafl +20 HH@A 1 TF T0 T T 90=a9 1 5 &6 97

(1)  TEE fFwm 98 (2) TEETE: fawrg @
(3)  TSEF TRy T (4) T g T T
Options:

64535045659, 1
64535045660, 2
E4E35045661. 3
EAE35045662. 4

: No Display Question Number : Yes

Question Number : 42 Question Id : 64635011603 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The time frame for the implementation of Millennium Development Goals was,

(1) 2000 — 20035 (2) 2000 -2015
(3) 2005 — 2010 (4) 2000 -2012
Options:

64535045662, 1
E4E35045664. 2
E4E35045665. 3
E45350456866. 4

Question Number : 42 Question Id : 64635011603 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

AEHIES FHHE TE o+ FA = I -HE R

(1) 2000 — 2005 (2) 2000 - 2015
(3) 2005 — 2010 (4) 2010 - 2020
Options:

64535045663, 1
64535045664, 2
64535045665, 3
EAE3504566E6. 4



Question Number : 43 Question Id : 64635011604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The duration for which of the usable compost generation is 3—6 months?

(1) Vermi composting (2} Semi-Automatic waste converter
(3) Pit composting (4) Automatic waste converter
Options:

64535045667, 1
64535045668, 2
64535045669, 3
EAE35045670. 4

Question Number : 43 Question Id : 64635011604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FeratEa 5 8 o 3TEmmarg e, e = a9y 3-6 918 = 5 B

(1) = e (2) HAF-TTNAd 998 FUEdF
(3) e $onieen (4) TE=ErAd 94 GUiEd®
Options:

64535045667, 1
64535045668, 2
E4E35045669. 3
EAE35045670. 4

Question Number : 44 Question Id : 64635011605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Oligotrophic lakes are characterized by

(1) High level of nutrients (2) Low level of nutrients
(3) Absence of nutrients (4) High level of organic matter
Options:

64535045671, 1
64535045672, 2
E4E35045673. 3
EAE35045674. 4

Question Number : 44 Question Id : 64635011605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 9= # I T (2) TEH F 7 o1
(3) g F AYE (4) e TEET 1 3= T
Options:

64535045671, 1
64535045672, 2
E4E35045673. 3



EAE35045674. 4

Question Number : 45 Question Id : 64635011606 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With increase in temperature, the dissolved oxygen content in a water body

(1) decreases
(2) increases
(3) remsain constant

(4) may increase or decrease depending on the temperature range

Options:

64535045675, 1
64535045676, 2
E4E35045677. 2
4535045678, 4

Question Number : 45 Question Id : 64635011606 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT | g * 9= 79 g ° et Aifaeeq 19

(1) =z
(2) H@ed
(3) TERTETE

(4)  AIHE TIE F ATHE g2 I g 2
Options:
64635045675, 1
64635045676, 2
64635045677, 3
64635045678, 4

Question Number : 46 Question Id : 64635011607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The econstitution of India provides right to establish educational institutions of their choice
by all minorities as per

(1) Article 30(1) (2)  Article 29
(3) Article 33 (4)  Article 16(2)
Options:

64535045679, 1
64535045680, 2
E4E35045681. 3
EAE35045682. 4

Question Number : 46 Question Id : 64635011607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



O 1 TS AT9E=TH g 7 748 5 o 9= =g 7 o AT 5 39 A 2

(1) 3= 30(1) (2) T 29
(3)  Ig=e 33 (4) IF=T 16(2)
Options:

E4E35045673. 1
64535045680, 2
64535045681, 3
64535045682, 4

Question Number : 47 Question Id : 64635011608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SWAYAM refers to
(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action-Learning for Young Ailing Minds
(4) Study Webs of Active-Learning for Youth Awareness hModels

Options:

E4525045685. 1

64535045654 2

64535045685 3

64835045686, 4

Question Number : 47 Question Id : 64635011608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA AR T (F) F I T
(1) T2 T8 ATF UFEH-AT B 17 T ATEEd
(2)  TZE 959 ATF U -1 FIL 47 TEITITET AT5-5H
(3)  TZErZ dve ATH UFEH-AI- FIL T TRl HT358
(4)  TZE =A=H AR UFed-H- HIL I8 AT HI5-5H
Options:
4835045683, 1
E4E35045654, 2

E4E35045685. 3
EAE35045686. 4

Question Number : 48 Question Id : 64635011609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is an educational FM radio network?

(1) Gyan Darshan {2) Gyan Vani
i3} Gyan Dhara (4} GIAN
Options:

E4E35045687. 1
645350456888, 2



EAE35045689. 3
E4535045630. 4

Question Number : 48 Question Id : 64635011609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fr=tafaa 8 2 F3-1 Sy 16 w e 2=+ 27

(1) FHAZIA (2) T =TI
(3) FHEW (4) St AT
Options:

64535045687, 1
64535045688, 2
E4E35045689. 3
E4E35045630. 4

Question Number : 49 Question Id : 64635011610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following reports addressed the academiec, technical and administrative
problems of the examination system?

(1) Report on standards of the Educational System (1965)
(2) Report of University Education Commission (1948-49)
(3) Sargent Report (1944)
(4) Hartog Committee report (1929)

Options:

E4E825045681. 1

EAE25045692 2

E45350456593. 3

645350456594 4

Question Number : 49 Question Id : 64635011610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tt TEa Sidaedt O ® Tora Tiran yomedt =ht Stgiies, a-rd 1 Wemai- Gaeal = g fwan ?

(1) T 14 Tr28d A% & THd 952 (1965)
(2)  TOOrE ATE IS THTH FHEE (1948-49)
(3)  Hraiee fOre (1944)
(4)  Frem Fd o (1929)
Options:
64635045691, 1
64635045692, 2

E45350456393. 3
E4E350456594. 4

Question Number : 50 Question Id : 64635011611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

During which wvear the present syvstem of affiliation of colleges to the Universities was
imtroduced in India?

(1) 1857 (2) 1948
(3) 1928 (4) 1966
Options:

E45350456595. 1
645350456356, 2
645350456857, 3
64535045638, 4

Question Number : 50 Question Id : 64635011611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T | metterarerd i favafaaradl § gwEga i 990 v a9 e g

(1) 1857 (2) 1848
(3) 1928 (4) 1966
Options:

64535045655, 1
64535045636, 2
64535045637, 3
E4E350456395. 4

FPART II Performing Arts

Section Id : 646350306

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 46

Number of Questionsto be attempted: 46

Section Marks: 100

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section |d: 646350550
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635011612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The Sangita Ratmakara, most exhaustive treatise on Indian Music, was written by
1.  Sardula
2.  Narada
3. Sarangadeva

4, Matanga

Options:

45350456990, 1
64535045700, 2
64535045701, =
64535045702, 4

Question Number : 51 Question Id : 64635011612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HRA il TR ot S0 ey Tiia-Tae & aEs i g ¢

2. ARG
3. TRIE
4. HET

Options:
64535045659, 1

E4E35045700. 2
E4535045701. 3
E4E35045702. 4

Question Number : 52 Question Id : 64635011613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The authorship of Subhadradhananjaya and Tapatisamvarana 1s ascribed to
1.  Mahendra Varman
2. Kulasekhara Varman
3. Tolan

4. Parimal Alagar

Options:



E4535045703. 1
64535045704, 2
64535045705, 3
64535045706, 4

Question Number : 52 Question Id : 64635011613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
GHETHSA Td ATOdEaRon & T S 87
1. Hew=aud
2. HOIWR JET
3. ded
4. URHH AR

Options:

4535045703, 1
64535045704, 2
64535045705, =
64535045706, 4

Question Number : 53 Question Id : 64635011614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Trace the odd one out in the context of Avasthas :

1.  Prayatna
2. Bija
3.  Phala-prapti

4. Prapti-sambhavna

Options:

4535045707, 1
64535045708, 2
64535045709 =
64535045710, 4

Question Number : 53 Question Id : 64635011614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a3 & HoH § fAvn &1 gi-u:

1. vad
2. ®
3. U

4. feT-SHTEAT

Options:

64835045707, 1
4535045708, 2
64535045709, o
64535045710, 4

Question Number : 54 Question Id : 64635011615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Bharata, the number of Angaharas and Karanas described in Natyashastra
respectively are

1. 04and32

2. 108 and 32
3. 32and 108
4. 04 and 108

Options:

64535045711, 1
64835045712 2
45350457132 2
64535045714, 4

Question Number : 54 Question Id : 64635011615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A & IF9R, Ticare § afvfa SgR ok & o 9 a9 § ;
1. 04332
2. 108 3R 32
3. 323108

4, 043108



Options:

64535045711, 1
64835045712 2
45350457132 2
64535045714, 4

Question Number : 55 Question Id : 64635011616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Natyashastra, a theatre having the height equal to a Mandapa of two
storeys 1s called

1 Dvibhurm
2 Dwiliksa
3, Dwviveshma

4. Dwivinyasa

Options:

64835045715, 1
4535045716, 2
64535045717, o
64535045718, 4

Question Number : 55 Question Id : 64635011616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ATCINE & SR, g Hiold HeU & SUa & GdTs aTel ATca=ial &1 Heari g7

1. faym
2. Tefore
3. fEawm
4. Tefeom

Options:

64535045715, 1
64535045716, 2
64835045717, 2
4535045718 4

Question Number : 56 Question Id : 64635011617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Natyashastra, the stages in the development of the plot are called
1.  Artha-prakritis
2. Sandhis
3. Arthopakshepaka

4. Avasthas

Options:

64535045719, 1
E4E35045720. 2
64535045721, 5
64535045722 4

Question Number : 56 Question Id : 64635011617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ARG & HTER, HUFS ZAga) & [TH™ & a0 &I HET AT ;

1. dvehk
2. Y

3. Sifudues
4. SER

Options:

4635045719, 1
64535045720, 2
64535045721, =
64535045722 4

Question Number : 57 Question Id : 64635011618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the vibhava-indicators, such as insult, harsh and false speech, revengefulness etc.
which Rasa of the following gets aroused?

I Vira Rasa
2 Rudra Rasa
3.  Bhayanaka Rasa

4. Bibhatsa Rasa

Options:



EAE35045723. 1
64535045724, 2
64535045725, 3
64535045726, 4

Question Number : 57 Question Id : 64635011618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fAHTS-Heraa! 9T 3THM, Hg Ud TTad do-, 9gdl - &I HIa- 3fe | Fafafad J 3 &F-
1 39 S gl 87

. dR

2. W

3. YA
4. v

Options:

64535045723, 1
64535045724 2
64835045725 2
4535045726, 4

Question Number : 58 Question Id : 64635011619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Widenming the eves, staring without batting an eyelid, raised eyebrows, head shaking
etc., are some of the Anubhavas of which of the following Sthayi bhava?

1.  Jugupsa — Disgust

2. Utsaha — Vigor

3. Vismaya — Wonder

4.  Bhaya — Fear

Options:

64835045727, 1
64535045728, 2
64535045729, 5
64535045730, 4

Question Number : 58 Question Id : 64635011619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



3 3Ud® Wall § 9, Yo 9= 38, iR &1 fige o enfe Fofafea & @ 5w wrh
HId & P STH 87

I A
2. 3HER
3. fasm
4, W\

Options:

64535045727, 1
64535045728, 2
64535045729 2
64535045730, 4

Question Number : 59 Question Id : 64635011620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“Yellama’ is a prominent character in
1.  Ankia-nat
2. Jatra
3.  Chindu Bhagavatam

4. Ramlila

Options:

64635045731, 1
64535045732 2
64535045733 2
64835045734 4

Question Number : 59 Question Id : 64635011620 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e, Fafafag § rqe uE iar e -

1. SifeurAr
2. SO
3. Tig yrTaay

4. Al



Options:

64535045731, 1
64835045732 2
45350457332 2
64535045724, 4

Question Number : 60 Question Id : 64635011621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The book Folkiore of Kerala 1s written by
1.  Shankara Pillai
2. B. Ananta Krishnan
3. K. N. Panicker

4. Vayala Vasudevan Pillai
Options:
64635045735, 1
64635045736, 2
64635045737, 3
64635045738, 4

Question Number : 60 Question Id : 64635011621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BIHAR H B TP & AED g
1. o e
2. ®lFdPuN
3. & U Ui

4., 9l aged fUees

Options:

64535045735, 1
64535045736, 2
64535045737, 2
E4E35045738. 4

Question Number : 61 Question Id : 64635011622 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is NOT a type of musical instruments?

1.  Avanaddha
2. Kutapa

3. Susira

4. Ghana

Options:

64835045739, 1
E4E35045740. 2
64535045741, 5
64535045742 4

Question Number : 61 Question Id : 64635011622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FofefEa § 9 S9-91 9iid IR ST IeR T8 & 2

. 3EE
2. P
3. gRR
4. °O

Options:

64535045739, 1
64535045740, 2
64535045741 =
64535045742 4

Question Number : 62 Question Id : 64635011623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The book The Mirror of Gestures written by Ananda Coomaraswamy 1s based on
1 Sangita Ratnakara
2. Abhinaya Darpana
3.  Bhava Prakasika

4. Nrtya Ratnavali

Options:



E4E35045743. 1
64535045744, 2
64535045745, 3
64535045746, 4

Question Number : 62 Question Id : 64635011623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3 HHR W §RI Ia gae iRy 3T orerd Fofafda w et &

1. i e
2. g e
3. HE USRI
4. A @G

Options:
453250457421

E4E35045744. 2
E4535045745. 3
64535045746, 4

Question Number : 63 Question Id : 64635011624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The “Gosangi’ character appears in the caste myth of
1.  Chindu Bhagavatam
2. Bhagavata Mela
3.  Therukuthu

4. Veedln Natakam

Options:

64535045747, 1
64535045748, 2
64835045749 2
4535045750, 4

Question Number : 63 Question Id : 64635011624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tt o Fafefae o o A e g

L. THg HFTaaH
2. HFTEd Hdl
3. [U=og

4. fafeceH

Options:
E4E35045747 1

E4E35045748. 2
E4535045749. 3
64535045750, 4

Question Number : 64 Question Id : 64635011625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Pick the odd one out ;
The Chinese or Peking opera got established in the Chinese colomes of :

1.  Thailand
2. Sn Lanka
3.  Malaysia
4. Singapore

Options:

64635045751, 1
E4E35045752. 2
64535045752, 5
64535045754, 4

Question Number : 64 Question Id : 64635011625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fww &1 g :
=i a1 difesm 3t &t Rufeied § 9 feg It SuiRaw | wuifte fSar mar ur?

Options:
64535045751 1

E4E35045752. 2
E4535045753. 3
64535045754, 4

Question Number : 65 Question Id : 64635011626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the name of the dummy horse dance of Tamil Nadu?

1.  Thapetta Gullu
2. Tamasha
3. Poikkal Kudhirai

4. Padayam

Options:

64535045755, 1
64535045756, 2
64835045757 2
4535045758, 4

Question Number : 65 Question Id : 64635011626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

aftraTg & SH 31 T &1 19 T 8
I Vet 3 (i
2. quTET

3. UOSd ieds
4. gt



Options:

64535045755, 1
64835045756 2
4535045757, 2
64535045758, 4

Question Number : 66 Question Id : 64635011627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which folk dance of Andhra Pradesh portrays the valour of Lord Shiva?
1.  Karma dance
2. Karagattam

3. Veeranatyam

4. Dhangar1 Gaja

Options:

64535045759, 1
64535045760, 2
E4E35045761. 2
64535045762, 4

Question Number : 66 Question Id : 64635011627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

31y 7w & 5 A T § WA R & Wi &1 A ST 87

1. ®aiad
2. OXEH

3. dRAEH
4. YR I

Options:

64535045759, 1
64535045760, 2
64535045761, =
64535045762 4

Question Number : 67 Question Id : 64635011628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Bharata which one 1s the ongin of vrittis?
1. Puranas
2. Vedas
3.  Upanishads
4. Ramayana

Options:

64635045763, 1
64535045764, 2
64535045765 =
64535045766, 4

Question Number : 67 Question Id : 64635011628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

R % 3TER g &1 IgHa T 87
. oo
2. 9%
3. SufHwg
4. THE
Options:

64535045763, 1
64535045764, 2
64535045765, 3
EAE3504576E. 4

Question Number : 68 Question Id : 64635011629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the action revealed while doing Adbhuta rasa?
I Smile
2. Eyes wide open

3. Envy

4. Restlessness

Options:
435045767 1

E4E350457EE. 2



E4E3504576%9. 3
64535045770, 4

Question Number : 68 Question Id : 64635011629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3AGYd I H URgfa & <R S1=-3t fipan vee gt 87

1. T
2. 3Gl B UG TU G Gia

3. 3=
4. g

Options:

64535045767, 1
64535045768, 2
E4E35045769. 2
4535045770, 4

Question Number : 69 Question Id : 64635011630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is ‘Unmaad’?

1.  Sthay bhava
2. Uddipan
3.  Vibhav

4, Sanchan bhava

Options:

64535045771, 1
64535045772 2
64535045773 2
64535045774 4

Question Number : 69 Question Id : 64635011630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TG 87

. A HE
2. TEIWA

3. faveE

4,  HIRI HE

Options:

64535045771, 1
64535045772 2
64535045773 2
64535045774 4

Question Number : 70 Question Id : 64635011631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who denved ‘Utpattiwad’?
1.  Bhatta Sankuka
2. Bhatta Nayaka
3.  Bharat Mum

4. Bhatta Lollata

Options:

64635045775, 1
64535045776 2
64535045777, 2
64535045775, 4

Question Number : 70 Question Id : 64635011631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Iafarg S @ B o di?
1. HEXP®
2. YT TAE®
3. wage
4, YT AT
Options:

E4E35045775. 1
EAE35045776. 2



EAE35045777. 3
64535045778, 4

Question Number : 71 Question Id : 64635011632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which dance is NOT from West Bengal?
1. Baul
2. Gambhira
3.  Dollu Kunitha

4. Mundan
Options:
645350457791
64535045780, 2
64535045781, 3
64535045782, 4

Question Number : 71 Question Id : 64635011632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HH-9T1 I Uidm S § Feiia T8 87
. 93849
2. TR

3. Sieq P
4. "R

64535045779, 1
64535045780, 2
E4E35045781. 3
EAE35045782. 4

Question Number : 72 Question Id : 64635011633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Pick the odd one out :

Which one 1s NOT used as a prop in folk dances?

1.  Mandavadi
2. Bin

3. Kikkli

4. Kottakal

Options:

64535045783, 1
64535045754, 2
64835045735 2
45350457386, 4

Question Number : 72 Question Id : 64635011633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Aem H gy

e Fi ° (9 te 49 9% (Vi) & ¥U H SHTd o a1 S 82
. Hisgs!
2. §N
3. foamdl

4. TrEPE

Options:
64535045753 1

E4E35045784. 2
E4E35045785. 3
E4E35045786. 4

Question Number : 73 Question Id : 64635011634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘Krodha’ 1s a sthayi bhava of which Rasa?

1. Vibhatsa
2. Veer
3. Raudra

4. Karuna

Options:

64535045787, 1
64535045788, 2
648350457389 2
4535045790, 4

Question Number : 73 Question Id : 64635011634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘@i 759 T8 1 i uE §?
1. dvE
2. d@R
3. W
4. HEO
Options:

64535045757, 1
E4E35045788. 2
E4E35045789. 3
64535045730, 4

Question Number : 74 Question Id : 64635011635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Sham’ 1s the sthayi Bhava of
1.  Vibhatsa
2. Shanta
3. Bhayanak
4.  Hasya
Options:

E4535045791. 1



EAE35045732. 2
64535045733, 3
645350457594, 4

Question Number : 74 Question Id : 64635011635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1. dus

2. wid

3. YOEe

4. T
Options:

645350457591, 1
64535045732, 2
64535045732, 3
E4E35045734. 4

Question Number : 75 Question Id : 64635011636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asserfion (A) : Rasa has to be treated not only as a hiterary but also as an aesthetic
concept or principle.

Reason(R) : The Rasa theory in Sanskrit poetics does not tackle the problems of
the essence of dramatic and literary art and its relish.

Choose the correct answer

—

Both (A) and (R) are false

!h.)

(A) 1s false and (R) 1s true

3. (A)istrue and (R) 1s false

=

Both (A) and (R) are true
Options:

645350457951

64E35045796. 2

64535045737, 3

64535045738, 4

Question Number : 75 Question Id : 64635011636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AMHYF (A) . T &I O Iieids ol 7o, Siewp U Jredary 3t AauRoT a1 Righ &

U ¥ feran &1 =il
& (R) . Wpd PR 8 W Rigid Tcg a1 9l o & IR o gae
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el I U ;
. (A)3R(R) THITaA LI

2. (A)TEd ® SR (R) I B
3. (A)TEIESR(R) T@d gl
4. QIRE)IHAHGE |

Options:

64535045795, 1
64535045796, 2
64835045797 2
4535045798, 4

Question Number : 76 Question Id : 64635011637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : The Indian folk theatre 1s total theatre in much the same sense of
classical Indian theatre 1s.

Reason(R) : [tis the same time very often a ritualistic theatre, which once brings it
close to both the classical and the modern theatre in the best sense of
those words.

Choose the correct answer :
1.  Both (A) and (R) are true
2. Both(A) and (R) are false
3. (A)istrue and (R) is false

4. (A)1is false and (R) 1s true
Options:
64635045799,
£4635045800.
£4635045801.
£4635045802.

[ N N

Question Number : 76 Question Id : 64635011637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



ISHYT(A) :  HRAN i TTHE, IR YR 14 3 o # v guf e B

& (R) . T € 9E U Ue I TTHE BT € of 39 57 Yl & Farad o A
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1. (A)3R(R) TFI TE &
2. (A) @R (R) <Fi Tad 2
3 (A) TR E R (R) T gl
4. (A)TEA R 3R (R) TR

Options:

64535045799, 1
64535045800, 2
64535045801, =
4835045802, 4

Question Number : 77 Question Id : 64635011638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : In purely anthropological terms the levels naturally are tribal, village
and urban; in artistic terminology they are sometimes called “folk’
and “classical’.

Reason(R) : The first implies community participation and the second refers
spontaneously to systermzed methods of expression—which 1implies
commumnity.

Choose the correct answer :
1. (A)istrue and (R) 1s false
2. (A)is false and (R) 1s true
3. Both (A) and (R) are true
4. Both (A) and (R) are false

Options:

64535045803, 1
64535045804, 2
64835045805 2
4535045806, 4



Question Number : 77 Question Id : 64635011638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ANBYF (A) - fOgs ©U ¥ Ta71e JgEd H S TR WHids ©U I S, Ao
ﬁ?%ﬁ%,a%éwamﬁﬁw-ww&“m”w

ElGLE

T (R . 37H ¥ Uge SHSIe TeHIidl B WY Sl § o) 3ftreafad @t
- m:@w@mumﬁﬁaﬁﬁaﬁam%ﬁwﬁﬁ%%mél

TEI IR G :
L (A)SE 8 SR (R) e g
2. (A)TEA 8 SR (R) FR1 B
3. (A)SIR(R) SFITE gl
4. (A)IR(R) TFITEAT |

Options:

64535045803,
4835045804,
48350452805,
4535045806,

o IR

Question Number : 78 Question Id : 64635011639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Vietnam is not the only South-East Asian country where the Chinese
tradition predominates in theatre and dance.

Reason(R) : The Vietnamese received their culture from China.

Choose the correct answer
1.  (A)istrue and (R) is false

2. (A)is false and (R) 1s true
3. (A)and (R) both are false

4. (A) and (R) both are true

Options:

64535045807, 1
4535045808, 2
64535045209, 5
64535045810 4



Question Number : 78 Question Id : 64635011639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Aty (A) - Foae e afiér-od o 2w e , Siet v (Rmey) ok T A
A1 TR Bt gyl | e

T (R) . T B o SR S R T S
ol I g ;

L (A) R 8 3R (R) 7o B

2. (A)Tad g SR (R) TE B

3. (A)3R(R) THITEaEl

4 A)IRER) AT

Options:

64535045807, 1
E4E35045808. 2
64535045209, 5
64535045810 4

Question Number : 79 Question Id : 64635011640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Abhinavagupta analyses aesthetic experience into one level of sense,
imagination, emotion, catharsis and transcendence.

Reason(R) : His analysis begins at the level of perception.
Choose the correct answer :

1. (A)is false and (R) is true

2. (A) and (R) both are false

3. (A)istme and (R) 1s false

4. (A) and (R) both are true

Options:

4835045811, 1
4535045812 2
64535045512, 5
64535045814, 4

Question Number : 79 Question Id : 64635011640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

B UR (A) :  Sifiara dicd Irea srgufa @ faavw 32T, S, weRy, REe
T SFHATE P U TR TR fAZaw0r i 2|

a5 (R) . 3G AN ST & TR R T S 2
T8 IR g :

. (A)TTEd g SR (R) WEl B

2. (A)AR(R) S T |

3. (A)FRTR (R) TEaL

4 (AIRR) IFIEE

Options:

64635045811, 1
E4E35045812. 2
64535045512, 5
64535045814, 4

Question Number : 80 Question Id : 64635011641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Now a days Bollywood 1s adopting regional folk dances in the
movies.

Reason(R) : The folk dances today portray a lot of lowness and vulgar gestures.
Choose the correct answer

1. (A)is true and (R) 1s false

2. Both(A) and (R) are true

3.  Both(A) and (R) are false

4. (A)is false and (R) is true

Options:

645350455815, 1
64535045816, 2
64835045817, 2
4535045818 4

Question Number : 80 Question Id : 64635011641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535045815,
645350455816,
EAE35045817.
E4E35045818.

Question Number

(A) 98! § 3R (R) TTed 2
(A) AR (R) T 21 €1
(A) 3R (R) <1 TTera €
(A) TTEd 8 SR (R) FEIE |

[

: 81 Question Id : 64635011642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Assertion (A) : The mask 1s perhaps the most important charactenistics of Khon,

through it one distinguishes the variety of roles.

Reason(R) : Generally speaking, divine and human roles always wear masks.

Choose the correct answer :

L.

Options:

E4E35045819.
EAE35045820.
E4E35045821.
BA53504582%,

Question Number

(A) 1s false and (R) 1s true
(A) 1s true and (R) 1s false
(A) and (R) both are true

(A) and (R) both are false

L N

1 81 Question Id : 64635011642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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. (A)TTEd g SR (R) 981 B
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Options:

4835045819, 1
4535045820, 2
64535045521, 5
64535045822, 4

Question Number : 82 Question Id : 64635011643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List-I with List-II :

List—I List—II
(a) Arpana (1) Absence of pause
(contimuty)
(b) Amubandha (1) Gradually raising the notes
(Alto)
(¢) Dipana (111) Gradually lowering the notes
(d) Prasamana (1v) Graceful modulation of

voice (offering)

Choose the correct option from those given below :
L (@-v); (b)-1); (e)-1); (d)—m)
2. (a)(u); (b)), (¢)-(v); (d)-@)
3. (a)-); (b)-(u); (c)~1); (d)-(1v)
4. (@)-av), (b)-(1); (c)-(ui); (d)-1)

Options:
4525045522 1



E4E35045824. 2
64535045825, 3
64535045826, 4

Question Number : 82 Question Id : 64635011643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

-1 B -1 3§ gHied S
i1 Hall-11

(a) ador () foRT 7 3 (Fa=m

(b) 3rEy (i) B 9R-4R TG (3

(¢) <= (i) R &I 4R-9R FH T

(d) == (iv) SHTaTSl B TIeR I (ST
oo U Aol # S 98 IR T T97 Do

L (@-av); (b)), (0)-(11); (d)-ii)

2. (a-i); (B)-); (0)iv); (d)-0)
3. (- (b)-m); (e)H1); (d)-Gv)
4. (a)-v); (b)-(); (c)-(u1); (d)-@)

Options:

E4E35045823.
4535045524,
64535045825,
64535045826,

[

Question Number : 83 Question Id : 64635011644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II :

List-I List—II
(a) Bhojva-rasa, Natya-rasa (1) Bhatta Nayaka
(b} Tadarupa Anusandhana (11) Bharat Mum
(¢) Chitra-turaga nyaya (111) Bhatta Lollata
(d)y Sadharamkarana (iv) Shri Sankuka

Choose the correct option from those given below :
L (@)D (b)(id); (e)~1v); (d)-(ii)
2. (@)-@i); (o)iid); (0)iv); (d)-@)
3. (@-Gib); (b)(iv); (o)-b); (d-@)
4. (@-@v); (b)), (c)-(id); (1)

Options:

64835045827, 1
4535045828, 2
64535045529, 5
64535045820, 4

Question Number : 83 Question Id : 64635011644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 ®f G-I | GHierd S
i1 eI

(@) HISY-3, T1e9-T9 i) HE TIH

(b) dEHU IITHYH (i) HRag=

(¢) FE-go=m (iii) Hg A

(d) HryRUiiEHr (iv) fivgs
feu U fdweal A 3 98! TR &1 I9= S

L (a)-(); (b)) (c)iv); (d)-(ii)

2. (@) (b)u); (0)—1v); (d)-1)
3. (a)-(m); )-v); (e)-); (d)-)
4. (@)-Gv); (b)-(1); (¢)-(ur); (d)-m)



Options:

64535045827, 1
4835045828, 2
4535045829 2
64535045820, 4

Question Number : 84 Question Id : 64635011645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List=I with List=II :

List-1 List—II
(a) Rati (Pleasure) (1) Bhayanaka (Fearful)
(b) Krodha (Wrath) (11) Vira (Heroic)
(¢) Bhaya (Fear) (111) Raudra (Violent)
(d) Utsaha (Vigour) (1v) Sringara (Erotic)

Choose the correct option from those given below :
L. (@-Gi); (b)) (e)iid); (d)-(v)
2. (a)-Qv); (b)-(u); (c)-); (d)—()
3. (@)-Qv); (b)-(m); (c)-(); (d)—1)
4. (a)-(u1);, (b)Hiv); (e)1); (d)(i1)

Options:

4535045831, 1
64535045832, 2
64535045833 2
64535045534 4

Question Number : 84 Question Id : 64635011645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Telt-1 &t -1 | gHfera i
a1 Tei-11

(a) < (i) vaF®

(b) @Iy (i) 4R

(¢) g (i) A%

(d) I«® (iv) IR
fou U fawedl § 9 95t IR &1 T S

L. (@-); (0)H1); (o)), (d)av)

2. (a)-Qv); (b)), (e)-); (d)-1)
3. (aQv); (b)-(m); ()-(1); (d)-Q)
4. (@-au); (b)-1v); (c)-(1); (d)y-)

Options:

64835045821, 1
4535045832 2
64535045522, 5
64535045824, 4

Question Number : 85 Question Id : 64635011646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List-I List-II
(a) Bhittikarma (1) Aninlaid or paved floor
(b) Bhuttilepa (1) A ceiling
(c) Kuttima (1) Construction of foundation
walls
(d)y Samjavana (iv) Plastering of a wall

Choose the correct option from those given below :

L (@-); (b)), (¢)—(1v); (d)-1)
2. (@), (B)-(v); (0)-w); (-1
3. (a)p-v); (b)-(um); (e)-Q); (d)-1)
4. (a)y-(u); (b)-(v); (e)-Q); (d)-Q1)

Options:
E4E535045535. 1

E4E35045836. 2
E4E35045837. 3
64535045828, 4

Question Number : 85 Question Id : 64635011646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Lo (a)-(); (b)u); (0)—1v); (d)-O
2. (@), d)-v); ()-); (d)-0)
3. (a)-v); (b)-Qin); (c)-(); (d)-(1)
4. (a)y-(u); (b)-1v); (0)-@); (d)-()

Options:

64535045835, 1
64535045836, 2
64535045837, 2
64535045838, 4

Question Number : 86 Question Id : 64635011647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II

List-I List-—II
(a) Bhagavata Mela (1) Kerala
(by Pandvani (11) Andhra Pradesh
(¢) Veedhinatakam (111) Chattisgarh
(d) Theyyam (iv) Tamil Nadu

Choose the correct option from those given below :
L (@)-1); 0)-i); (e)(i); (d)-Gv)
2. (a)y(ui); (b)(1i); (©)-1v); (d)-1)
3. (a)-Qv); (b)-(m); (¢)-(); (d)-(1)
4. (a)-1); (b)-1); (e)1ii); (d)-(v)

Options:

64535045839, 1
64535045840, 2
64535045841, =
64535045542 4

Question Number : 86 Question Id : 64635011647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Jei-1 &1 GEI-11 8 gafea sifeg -
a1 g1

(a) HTTEd Hell (i)

(b) dsarE (i) 3y vew

() fafFesH (i) BTG

) d=H (iv) afterTs
feu U fAereul A 9 9E IR &1 99 BifoI ;

L (@)@ (-1 (e)-(um); (d)-(v)
2. (a)y(m); (b)), (e)—1v); (d)-Q)
3. (a)-v); (b)-(u); (e)-(); (d)-Q1)
4. (a)y-); (b)H1); (e)-1i); (d)-v)

Options:

4835045839, 1
E4E35045840. 2
64535045241, 5
64535045842, 4

Question Number : 87 Question Id : 64635011648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List—=I with List—II :

List—I List—II
(a) Jasma Odan (1) Kudiyattam
(b) Barnamvana (1) Yakshagana
(¢) Saiyan Bhaye Kotwal (i) Bhavai
(d)y Madhyama Vyayoga (1v) Tamasha

Choose the correct option from those given below :
L. (@)-(v); (b)-(i1); (c)-(1); (d)-1)
2. (@), (b)), (c)1ii); (d)—-(1v)
3. (a-(w); (b)1); (0)—v); (d)—1)
4. (@) (b)-v); (e)—(1); (d)—(u)



Options:

64535045543, 1
64835045844 2
E4E35045845 =2
64535045846, 4

Question Number : 87 Question Id : 64635011648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 S -1 § gafera i
-1 -1

(a) ST 3 (i) wpleagn

(b) T HIA (i) T&ATH

(¢) 1YY HIgard (iii) Hars

(d) \eEHA[R (iv) quT=
fou U Ao el # 9 98 IR &1 94 Sl

1. (a)-(v); (b)-(ii); (c)-(1); (d)-{)
2. (a)-); (b)(11); (c)iii); (d)-Gv)
3. (a)y(ui); (b)), (e)-v); (d)-Q)
4. (a)1); (b)-1v); (c)-(1); (d)-(11)

Options:

CAdE2IE045842 1

CAEZEN4EEA4 2

E4E35045845. 3
E4E35045846. 4

Question Number : 88 Question Id : 64635011649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II :

List—I List—II
(a) Kunqu (1) Female role
(b)  Yuan dynasty (11) Peking opera
(c) Jingju (11) Oldest Chinese opera style
(d) Dan (iv) Golden age of Chinese
drama

Choose the correct option from those given below :
(a)-(u1); (b)-(1v); (c)-(1); (A)-O)
2. (a-(i); (0D (©)-v); (d)-1)
(a)-@); (B)1v); ()-(ur); (d)-w)
(@)—(1); (b)(it); (e)v); (d)—(1)

et

s

e

Options:

64835045847, 1
4535045848 2
64535045249, 5
64535045850, 4

Question Number : 88 Question Id : 64635011649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) TB L i e

(b) TN ToE (i) difdT enoxr

() oIy (i) e = ST et
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U U fAeel H § 9l I &1 99 B :

L (a)-(); (b)-1v); (e)-1); (d)-)
2. (a)(ui); (b)1); ()iv); (D)D)
3. (a-; 0)-v); (e)-ii); (d)-(1)
4. (a-); (b)(1n); (e)iv); (d)-(1)

Options:
4535045547, 1

E4E35045848. 2
64535045845, 3
64535045850, 4

Question Number : 89 Question Id : 64635011650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List-1 List—II
(a) Pindibandha (1) Abhinaya
(b) Tandava (1) Adbhuta
(¢c) Vachika (111) Nritta
(d) Vismaya (iv) Group dances

Choose the correct option from those given below :
(a)(ui); (B){i1); (¢)—1); (d)-(v)
2. (@), (b)), ()1, (d)-(v)
(a)-(1); (b)(1); (c)-(uir); (d)-(1v)
(a)(1v); (b)-(i1); (c)-1); (d)—(i1)

[

e

=

Options:

64535045851, 1
64535045852, 2
64835045852 2
4535045854 4

Question Number : 89 Question Id : 64635011650 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tet-1 ®1 gEt-11 F JHferd i
-1 a1

(a) fOStE= Q) et

(b) disd (i) orgyd

(c) da®d (i)

(d) fawm (iv) g
feu U Aowl § 9 98! 3T &1 I9= S

L. (a)-(u); (b)), (¢)-1); (d)-av)
2. (D) (b)), ()-(i); (d)—(v)
3. (a)-(u); (b)-(1); (e)-(im1); (D)-(v)
4. (@)-v); (b)—(iii); (e)—1); (D)

Options:

645350458511

64535045852 2

E4E35045853. 3
E4E35045854. 4

Question Number : 90 Question Id : 64635011651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-II :

List-I List—II
(a) Rajasthan (i) Ojha Nritya
(b) Assam (1) Lebang Boomam
(¢) Trnpura (111) Tera Taali
(d) Bihar (v) Jhijhia

Choose the correct option from those given below :
L (@), (b)—1); ()i (d-(v)
2. (a)-(u); (D)—1); (¢)-1); (d)-(v)
3. (a)-); (b)), (e)Hiv); (d)—(1)
4. (a)-); (b)iv); ()-(11); (d)(ii1)

Options:

64535045855, 1
64535045856, 2
64535045857, =
E4E35045858. 4

Question Number : 90 Question Id : 64635011651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Telt-1 &t -1 § gafera Sifon
i1 g1

(a) TR i) s

(b) srH (i) oS A

(c) Bgu (iii) % arelt

(d) fER (iv) ferfemm
feu mu fAeeal H 2 g IR &1 99 S

L. (aui); (b)~(1); (e)Hi); (d)-Gv)
2. (aym); (b)), (©)—1); (d)-av)
3. (a)-); (b)Hid); (e)-av); (D))
4. (@-1); (b)-iv); (e)-(i); (d)-(ii)

Options:

64535045855, 1
64535045856, 2
64535045857, =
E4E35045858. 4

Question Number : 91 Question Id : 64635011652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List-I List-II
(a) Sringara (1) Sentiment
(b) Smriti (11) Vipralambha
(¢) Rasa (111) Vibhava
(dy Anubhava (1v) Transitory mood

Choose the correct option from those given below :
L. (a)-(m); (b)~(u); (¢)-(1v); (d)-Q1)
2. (ayu); (b)), (e)-Q); (d)-(u1)
3. (ayv); (b)-(u1); (c)-(iii); (d)-()
4. (a)(0); (b)), ()1 (d)-av)

Options:
64535045559 1

E4E35045860. 2
E4E35045861. 3
E4E535045862. 4

Question Number : 91 Question Id : 64635011652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 1 gaEi-11 9 gafed Sifom -
-1 GeAt-11

(@) R (1)  HE

(b) (i) vy

() ™ (iil) fIurE

(d) ergHE (iv) Srmdt gz
feu U Aol § 1 98! ST &1 997 il ;

1. (@)-ii); (b)-in); (©)-1v); (d)-1)

2. (a)y-(u); (b)av); (¢)-1); (d)—(11)
3. (a)-(v); (b)), (c)—(1); (d)-1)
4. (a)-(1); (b)(iii); (¢)-(11); (d)-(v)

Options:

64535045859, 1
4835045860, 2
4535045861, 2
64535045562, 4

Question Number : 92 Question Id : 64635011653 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the correct sequence of five Avasthas according to their development in regular
order :

1.  Prayatna, Prarambha, Niyatapti, Prapti-sambhavna, Phala-prapti
2. Prarambha, Prayatna, Prapti-sambhavna, Niyatapti, Phala-prapti
3. Prarambha, Prayatna, Niyatapti, Prapti-sambhavna, Phala-prapti
4. Niyataph, Phala-prapt, Prapti-sambhavna, Prarambha, Prayatna
Options:
64635045863,
64635045864,

E4E35045865.
E4E35045866.

o LIRS

Question Number : 92 Question Id : 64635011653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U a1l H1 Faftd % § 359 e & AR 98t % &1 99 Hig :
1. vad, TRH, o, mi-gyras, va-m
2. URY Ugd, yia-gHa=, Foaia, va-uia
3. URH vaq, Raaid, wi-gHeH, Ba-uid
4. oo, wa-mic, miy-SHre, TRY, 7ad

Options:

4635045863, 1
64535045864, 2
64535045865 =
64535045866, 4

Question Number : 93 Question Id : 64635011654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
Choose the correct sequence of five stages in the development of the plot, Artha-
prakritis :
1.  Bija, Bindu, Pataka, Prakar, Karya
2. Bindu, Bija, Pataka, Prakan, Karya
3.  Bija, Bindu, Prakari, Pataka, Karya

4., Pataka, Karya, Bindu, Bija, Prakari

Options:

64535045867, 1
64535045868, 2
4835045869 2
4535045870, 4

Question Number : 93 Question Id : 64635011654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HYFS- Y- v & e & e Il &1 9el Y g
1. ¥, fevg, udes, yedl, &1
2. forg 99, 9a, v, T
3. i, farg, v, vas, B
4. oA, BM, g, 99 v

Options:



EAE35045867. 1
64535045868, 2
64535045869, 3
64535045870, 4

Question Number : 94 Question Id : 64635011655 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the correct sequence of the following folk art forms according to their
geographical location from North to South :

1. Nautanki, Yakshagana, Jatra, Therukoothu
2. Nautanki, Jatra, Yakshagana, Therukoothu
3. Nautanki, Therukoothu, Yakshagana, Jatra
4. Jatra, Nautanki, Yakshagana, Therukoothu

Options:

48350458711
E4E35045872. 2
64535045573, 5
64535045874, 4

Question Number : 94 Question Id : 64635011655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR Y o1 Bt 3R Hiifere W & 3R Pufeied die o & Suf &1 98l H9 gy
1. !, gamH, S, ey
2. Sl S, 9gTE, ey
3. Aol Uegg, 3aE, e
4. oL A g, UEgg

Options:

645350455871, 1
64535045872 2
48350458732 2
64535045574, 4

Question Number : 95 Question Id : 64635011656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Give the correct sequence of the folk dances from East to West :
1.  Baul, Santhali, Bamboo dance, Ghoomar
2. Baul, Bamboo dance, Santhali, Ghoomar
3.  Bamboo dance, Ghoomar, Santhali, Baul

4. Bamboo dance, Baul, Santhali, Ghoomar

Options:

64535045875, 1
64535045876, 2
E4E35045877. 2
64535045573, 4

Question Number : 95 Question Id : 64635011656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

die T & gd 9 Ui 3 3R 9% & el HH &1 g :
1. 93, e, 359 9 TR
2. WIS I, U, T
3. I9d, TR, 9T, 169
4. S9TE S99, QYT TR

Options:

64535045875, 1
64535045876, 2
E4E35045877. 2
64535045573, 4

Sub-Section Number: 2
Sub-Section 1d: 646350551
Question Shuffling Allowed : Yes

Question Id : 64635011657 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cuesticon Label | Comprehension



Direction :  Read the paragraph given below and answer the questions that follow :

Till date, various measures have been taken by the government, private enterprise and the
public, both at state and central level, in the field of Performing Arts to benefit both the
practitioners, students and scholars in the field. These have been sought to be achieved
through :

Organising cultural festivals

Setting up Sangeet Natak Academies at the centre and state levels

Promotion abroad through ICCR

Grants to institutions in various forms

Subsidising rail travel for a cultural group within the country

Granting of fellowships to students and scholars

Travel grants to participate in cultural festivals/seminars etc. abroad

Study grants for taking up research in the field

Awarding national and state level awards

Setting up of All India Radio and Doordarshan

Setting up of the Central Production Unit in DD with an emphasis on the production of
quality programmes in the field of Performing Arts

e A gradual infroduction of courses on Indian civilisation, culture and arts at various
levels of scholastic life

s Provision of some assistance and maintenance grants to artists in indigent

circumstances
Shovana Narayan
Performing Arts in India
A Policy Perspective
Sub questions

Question Number : 96 Question Id : 64635011658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List-I List—II
(a) Travel grants (1) National
(b) Awards (1) Research
(¢) Maintenance grant (111) Seminars abroad
(d) Study grants (iv) Artists

Choose the correct option from those given below :
L (a)-); (b)-1); (e)-v); (d)—(1u1)
2. (@)-(u); (b)—(u);, (0)-); (d)-(v)
3. (ay-Qm); (b)~(1); (e)-(iv); (d)-(11)
4. (a)-(i); (b)Hiv); (e)(iii); (d)—{)

Options:

64835045879, 1
4535045880, 2
64535045881, o
64535045882, 4

Question Number : 97 Question Id : 64635011659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who are provided subsidised rail travel within country by the government?
1.  Toumnsts

2. Factory executives

3. Cultural groups

4, Women leaders

Options:

4635045883, 1
64535045884, 2
64535045885 =
645350458586, 4

Question Number : 98 Question Id : 64635011660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : Till date, some measures have been taken by the government in the
field of performing Arts to benefit only practitioners.

Reason(R) : Only the performers are most important to get benefits.
Choose the correct answer :

1. (A)and (R) both are false

2. (A)and (R) both are true

3. (A)istrue and (R) is false

4. (A)1s false and (R) 1s true

Options:

64535045887, 1
64535045888, 2
64835045889 2
4535045890, 4

Question Number : 99 Question Id : 64635011661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What does the public at state and central level do in the field of Perforrmng Arts to
benefit the stakeholders?

1.  Organise and promote cultural festival
2. Provide sound and light for performances
3. Setupradio stations

4. Setup production units in Doordarshan

Options:

4635045591, 1
64535045892, 2
64535045893 =
64535045594, 4

Question Number : 100 Question 1d : 64635011662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who 1s not the beneficiary of the government and private/public enterprises?
1. Students of Perforrming Arts
2. Artscholars

3.  Performing Artists

4.  Engineers

Options:

64535045595, 1
64535045896, 2
4835045897 2
4535045898, 4

Question Id : 64635011657 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 96 Question Id : 64635011658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 B FEI-11 9 gHfad B

g1 Tell-11

(a) TEA 3FIQ™ i) v
(b) YR (i) =y
(¢) falg seH (iii) fag= H AR
(d) 3T e (iv) PHaoR
iU U fAweul A 9 9Et IR &1 99 SO ;
1. (@-i); (b)H1); (e)Hiv); (d)—(id)

2.

3.

4.

Options:

64535045879
E4E35045880
4535045881
64535045882

Question Number
Single Line Quest

(a)—(u1); (D)11); (0)—1); (D)-(v)
(a)-(u1); (0)~1); (¢)-(1v); (A1)
(a)-(1); (b)-(1v); (c)-(u1); (d)-D)

.1
.2
.3
.4

1 97 Question Id : 64635011659 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
ion Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PR gl

1.

2.

3.

4.

Options:

64535045853,
645350455854,
E4E35045885.
E4E35045886.

Question Number
Single Line Quest

¥ & 3 ¥4 IFT 8 9 IS geradl Ve &1 Sl 82
e

Peedl weflegfea

FRPlcs THE

Higer =

o LIRS

: 98 Question Id : 64635011660 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
ion Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ABYF (A) 39 Bl fafY 9%, WeR gR1 THE &al & &7 § 9% saer! & add

o SUM fFU MU B
d& (R) . b paeR T4 TR & foru affte wewyf 81
TE I gL :
. (A)3R(R) THITAT 2|

2. (A)3MR(R) S el B
3. (A)TEEAR(R) Tad e
4, (A)TEdE SR (R) Il

Options:

4835045887,
4535045888,
4535045889,
54535045890,

o LIRS

Question Number : 99 Question Id : 64635011661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 3R $5 TR TR Fd1 TTHA1G Sl & &5 H TURS! & arHrd &1 sl 62
1. Wipiae I&dl 1 e AR 3T TGl ol
2. HamEs gg A SR Ve a1 Gea HIE
3. Year=w= wiftd s
4, GG U OIS g S UM S

Options:

64535045891,
4835045892,
4535045593,
64535045594,

o LIPS

Question Number : 100 Question Id : 64635011662 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fafed # 3 o WoR IR Fol/Aert ST gR1 J2a1 S SHare giawne &

el et 27
1. & oo & el
2. FarfagE
3. UHA HABN
4. EGIHER
Options:

E4E35045855. 1
E4E35045896. 2
E4E35045897. 3
64535045838, 4

FART III Dance

Section Id : 646350307

Section Number : 3

Section type: Online

Mandatory or Optional: Optiona

Number of Questions: 46

Number of Questionsto be attempted: 46

Section Marks: 100

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350552
Question Shuffling Allowed : Yes

Question Number : 101 Question 1d : 64635011663 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who i1s the most famous, well-known and expert Kuchipudi couple dancer-guru?
1.  Vasanthalakshmi and Narasimhachari
2. Raja and Radha Reddy
3.  Vanashree Rao and Jaya Rama Rao

4, Mallika and Revanta Sarabhai

Options:
4535045599, 1
64535045900, 2



E45350453901. 3
645350453902, 4

Question Number : 101 Question Id : 64635011663 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SRS TA & TikE, T 9T YU grfd 7 T8 H19 87
1. d9oaeH qur = I
2. O YT YT IS

3. T8 TG au SO I
4. HAfcaD! auT Iga GRIHE

Options:

64535045599, 1
64535045300, 2
64835045901, 2
4535045302, 4

Question Number : 102 Question Id : 64635011664 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s Chunnamelam?

| Musical form
= Dance
3. Vocal music

4, Dance orchestra

Options:

4535045903, 1
64535045904, 2
64535045305, =
64535045306, 4

Question Number : 102 Question 1d : 64635011664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e a1 27
1. d & UH EY
2. TADTHEY
3. A S
4. T ST

Options:

64535045903, 1
64535045304, 2
64835045905 2
4535045306, 4

Question Number : 103 Question Id : 64635011665 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which God was designated to protect the actor in the role of hero in the first play
‘Amritamanthanam’ as written in the Natyashastra?

I Vishnu
2. Indra
3, Nandi

4. Saraswathi

Options:

4535045007, 1
64535045908, 2
64535045309, =
64535045310, 4

Question Number : 103 Question 1d : 64635011665 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



eI | e “omamy= § Tae o1 Yfte | oftFar & T3 B 9 <aa ot Faa

foam mam 82
. fau
2. %
3. 4l
4. Sl
Options:

645350453907, 1
64535045308, 2
64535045309, 3
64535045310, 4

Question Number : 104 Question Id : 64635011666 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who choreographed “Nutcracker’?
1. Chnstian Johanssen
2. Lev Ivanovich
3. Hanya Holm
4. Alexander Gorsky

Options:

64535045911, 1
64535045912 2
64535045313 =
64535045314 4

Question Number : 104 Question 1d : 64635011666 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘TehaT Bl HIamE! g ot 27
1. e oes
2.  wagdmiad

3. BTIEE
4. IS MRS



Options:

64535045911, 1
64835045912 2
E4E35045312. =2
64535045914, 4

Question Number : 105 Question Id : 64635011667 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pick the odd one out :

1.  Adith Mangaldas

'!:'-‘_-J

Daksha Mashruwala
3. Maneesha Sathe

4. Daksha Sheth

Options:

64535045915, 1
64835045916, 2
64535045917, 5
64535045918, 4

Question Number : 105 Question Id : 64635011667 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fem &1 g
1. Sffefd dree™
2. G&i ARREATdl
3. TS

4. TqdS

Options:

64535045915, 1
64535045916, 2
64535045317, =
64535045315, 4

Question Number : 106 Question 1d : 64635011668 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which Indian choreographer today does NOT use the elements of stage design and light
elements in her productions?

1. Smt. Kumudini Lakhia

2. Dr. Anita Ratnam
3. Aloka Kanungo

4. Dr. Gount Ramnarayan

Options:
45350454919,

1
E4E35045920. 2
E4E35045921. 3
BAE35045922. 4

Question Number : 106 Question Id : 64635011668 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Foffad ¥ 3 & YRAD SIRAmeR sieied ol g | 59 3o aur ey sl
&1 UGN T8l HIdl B2

1. g gfet anfean
2. Bl 3l @H

3. 3l B

4. T T IHEREe

Options:
4535045919,

1
E4E35045920. 2
E4E35045921. 3
BAE35045922. 4

Question Number : 107 Question Id : 64635011669 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Kerala Kala Mandalam” 1s famous for what?

1.  Mampun
2. Kuchipudi
3. Odish

4. Mohimattam



Options:

64535045923, 1
E4E35045924 2
E4E35045325 =2
64535045926, 4

Question Number : 107 Question Id : 64635011669 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘P pal Ausaw fras fore verg 22

1. Hfurgd
2. oREgS
3. s

4. Hifg-teEd

Options:

64535045923, 1
E4E35045924 2
64535045925, 5
64535045926, 4

Question Number : 108 Question Id : 64635011670 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following was NOT performed by Martha Graham?
1. Swan lake
2. Labyrinth
3.  Cave of the heart

4. Night journey

Options:

64535045927, 1
64535045928, 2
64535045329 2
64835045920 4

Question Number : 108 Question Id : 64635011670 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frafufed ® @ o= mryf ae 31 rxgfa 78 82

. WEuS

2. dfefey

3. AP EE
4. AT S

Options:

64535045927, 1
64535045328, 2
64535045329 2
E4E35045920. 4

Question Number : 109 Question Id : 64635011671 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who developed the ‘Eurhythmics’, a system of expressing musical rhythm through
bodily movements?

1. Kurt Joose
2. Lincoln Kirstein
3. Jaques-Dalcroze

4. Robert Joffrey

Options:

64535045931, 1
E4E35045932. 2
64535045922 5
64535045924, 4

Question Number : 109 Question Id : 64635011671 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fofafed & 9 o= RR S9m & mew 9 Siang @9-aa AW @Rkikem) @ e
fomam 87
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Options:

64535045931, 1
64835045932 2
E4E35045323 2
64535045924, 4

Question Number : 110 Question Id : 64635011672 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was NOT the director of Kirov Ballet (Leningrad)?
1.  Oleg Vinogradov
2. Fyodor Lopukhov
3.  Marius Petipa

4. Paul Taylor

Options:

64535045935, 1
645350459336, 2
64835045937 2
4535045328 4

Question Number : 110 Question Id : 64635011672 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frofefed 3 9 o [ 90 @) & Foxe @rReey) T 47
1. 3 famsT

WIS ArgEia
3.  dRogdicw
4. TUdar

Options:

64535045935, 1
645350459336, 2
64835045937 2
4535045328 4

!k.'.'l

Question Number : 111 Question Id : 64635011673 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is “‘Devtahasta’?
1. Vayu
2. Shukra
3, Vaman

4. Surya

Options:

64535045939, 1
64835045940, 2
E4E35045941. =2
64535045942, 4

Question Number : 111 Question Id : 64635011673 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fofaf@ad ® 3 s Sadaes’ 82

1. g
2. Tw
3 Gl

Options:

64535045939, 1
64835045940, 2
E4E35045941. =2
64535045942, 4

Question Number : 112 Question Id : 64635011674 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is “Karana’?

1. Hansini

2 Bhramar
3 Brahma
4, Veera

Options:
4525045942 1



E4E35045944. 2
64535045945, 3
64535045946, 4

Question Number : 112 Question 1d : 64635011674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fofefed & @ o1 ‘s 82
1. g

2. U
3. §Em
4. AR

Options:

64535045943, 1
E4E35045344 2
64535045945 5
64535045946, 4

Question Number : 113 Question Id : 64635011675 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which kind of Nayak is ‘Buddha’?

i Dheerodatta

2. Dheerpra
3.  Dheerlalit
4. Dherodhatt

Options:

64535045947, 1
64835045948 2
E4E35045349 =2
64535045950, 4

Question Number : 113 Question Id : 64635011675 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



4. dReT

Options:

64535045947, 1
64535045348, 2
64835045949 =2
64535045950, 4

Question Number : 114 Question Id : 64635011676 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who composed the Sanskrit Kritis on Navagraha?
1. Tyagaraja
2. Swathi Thirunal
3. Muthuswami Dikshitar

4, Gopalakrishna Bharathi

Options:

4835045951, 1
E4E35045352 2
64535045952, o
64535045954 4

Question Number : 114 Question Id : 64635011676 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FrafeeEd J f5ee TavE W 9X5d Siadl 3t A 3 57
1. RN
2. i faea

3. Hgwm g
4. TUTEHST HRG!

Options:
64535045951, 1



E4535045952. 2
64535045953, 3
64535045954, 4

Question Number : 115 Question 1d : 64635011677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In what matenal 1s the trachtional Kathakali “Mukutam’ made of?

1.  Wood
2.  Plastic
3. Peacock qull (Peeth)

4, Hard board

Options:

&4535045955. 1
64535045956, 2
64535045957, =
64535045358, 4

Question Number : 115 Question 1d : 64635011677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TRURS Yl 7d Ugfd # “Hopen’ {9 a5 3 5+ gidl 27

1 Akl
2. WIRs
3. HRUE (US)

4. BHIRTE (TS a9

Options:

64535045955, 1
64535045956, 2
64535045957, 5
64535045958, 4

Question Number : 116 Question Id : 64635011678 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who was the first teacher of Manipuri Dance in “Shantiniketan’?
1.  Nabha Singh
2. Ja Singh
3.  Bhagya Chandra Singh

4. Navkumar Singh

Options:

64535045959, 1
4835045960, 2
4535045361, 2
64535045962, 4

Question Number : 116 Question Id : 64635011678 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Fifafeds & aftrgd 97 & gun e o 42
1. =uf¥e
2. wafsE
3. Yro g g

Options:
E4E35045959,

1
E4E35045960. 2
E4E35045961. 3
E4E535045962. 4

Question Number : 117 Question Id : 64635011679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who 1s the Guru of Manmipuri Dance?
1.  Kalyamkutti Amma
2. Gaurl Amma

3. Y. Gambhini Devi

4, Ram Karna

Options:
64535045963, 1



E4E35045964. 2
64535045965, 3
64535045966, 4

Question Number : 117 Question 1d : 64635011679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT T & TS B U?

1. o Sigam
2. TIRY o

R | o e |
4. TArHOL

Options:

4535045963, 1
64535045964, 2
64535045365 =
64535045366, 4

Question Number : 118 Question 1d : 64635011680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Mahan’ term 1s associated with which dance?

1. Mohimattam
2. Bharatanatyam
3. Odishi

4, Kuchipudi
Options:
64535045367, 1
64535045368, 2
64535045969, 3
64535045970, 4

Question Number : 118 Question 1d : 64635011680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2. HIdTeH
3. afewh
4. gt
Options:

645350453967, 1
E4E35045965. 2
E4E35045969. 3
64535045970, 4

Question Number : 119 Question Id : 64635011681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Who 1s the “Padmashree’ recipient in “Satriya Dance’?
1.  Indira Bora
2. Manik Borbayon
3. Jatin Goswami

4,  Anita Sharma

Options:

64535045971, 1
E4E35045972. 2
64535045972, 5
64535045974, 4

Question Number : 119 Question Id : 64635011681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e T 7 # vedt R ua fean 82
1. sieusr

2. IV SEEE
3. Sfae TaTHt
4. eFrar It

Options:
64535045971, 1



EAE35045972. 2
64535045973, 3
64535045974, 4

Question Number : 120 Question Id : 64635011682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who most recently has choreographed “Swanlake® and in which style?
1.  Sharmila Biswas — Odissi
2. Bharati Shivaji — Bharatanatyam
3. Dr. Padma Subrahmanyam — Bharatanrityam

4, Prerana Shrimali — Kathak

Options:

64535045975, 1
E4E35045976. 2
4535045977, 2
64535045978, 4

Question Number : 120 Question Id : 64635011682 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fofefeg # o= g 8 ° “TFae” 3 HIiamme! $1 € R B Adt A 3 22
1. it Rym-anfesh
2. UG REm-HiaHTeas

3, 3. R FHEE - RaTaH
4. IO Sl - HUS

Options:

64535045975, 1
645350459376, 2
4835045977 2
4535045378 4

Question Number : 121 Question Id : 64635011683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the purpose and aim of umversities offering graduate courses of dance from
Bachelors to Ph.D.?

1.  To create performers
2. To create research scholars
3.  To create knowledgeable audience

4. To ereate all round artists and teachers

Options:

E4E350459749. 1
64535045980, 2
64535045981, o
64535045382, 4

Question Number : 121 Question Id : 64635011683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hﬁﬁﬁ;@ 3 diugel a6 & Jd & T9Ue U3 H UelH a3-dTd [aufdenedl & 3= 3R
deEa g’

1. PRSI AR S

2. i @1 fRmir s

3. SIFeR el &1 R S

4. TS HAGR ol el 1 i s

Options:

64535045979, 1
E4E350459280. 2
645350459581, 5
64535045982, 4

Question Number : 122 Question Id : 64635011684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which classical dance style “Thali and Kalash’ 1s used as prop?

1.  Kuchipudi
2. Odishi
3. Satrniya

4. Mohimattam

Options:

4535045983, 1
64535045984, 2
64535045985 =
64535045356, 4

Question Number : 122 Question 1d : 64635011684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘yTelt IR HA B fod TR T At § He 9% S U § U 5 S 22
1. fEgst
2. onfee
3. gB

4. wfEeEe

Options:

64535045983, 1
64535045334, 2
64835045985 2
64535045956, 4

Question Number : 123 Question Id : 64635011685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who has edited “MARG : Contemporary dance’ in India?
1.  Uttara Asha Coorlawala
z Dr. Sunil Kothar
3.  Astad Deboo and Ketu H. Katrak

4. Arshiva Shethi

Options:



E4E35045987. 1
64535045988, 2
64535045985, 3
64535045930, 4

Question Number : 123 Question Id : 64635011685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fofaied # 9 o= 4Ra | A7 SeEid S %1 9uieH fear 82
1. IO SR Hamara

2. S gHasBi
3. TG 3R g A FAm
4. SiRfEr 2t

Options:

64535045987, 1
E4E35045988. 2
E4E35045389. =2
64535045990, 4

Question Number : 124 Question Id : 64635011686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who has worked on Laban’s movement Notation/ Analysis in India?
1. Urmimala Sarkar
2. Navtej Johar

3. Mallika Sarabhai

4. G. Venu

Options:

64535045991, 1
645350459392 2
648350459392 =2
64535045994, 4

Question Number : 124 Question Id : 64635011686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fofeied # 9 e YRd H© aree e/ qaHe W oy fBar 82
1. SHHE WHR
2. TTade oy
3. AiTeT GRS

4. Sty

Options:

64535045991, 1
64535045992, 2
64835045992 2
E4E35045394 4

Question Number : 125 Question Id : 64635011687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who runs “Creative Movement Therapy Association” in India?

1.  Parul Shah
2. Madhu Nataraj
3.  Trnpura Kashyap

4 Navina Jafa

Options:

64535045995, 1
64535045996, 2
64535045397, 2
64835045998 4

Question Number : 125 Question Id : 64635011687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frofeiad | 9 oiF yrRa | “feufs qare R e Iard 87

. URAIE
2. YT
3. PBguewmy
4. I ST

Options:
4535045955, 1



E4E35045996. 2
64535045957, 3
64535045938, 4

Question Number : 126 Question 1d : 64635011688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : Pt. Bindadin enriched the lyrical content of Lucknow Gharana of
Kathak with his own compositions of Thumris, Dadra and Ghazals.

Reason(R) : He was famous writer and painter.
Choose the correct answer :

1.  (A)1s false and (R) 1s true

2. {A)i1strue and (R) 1s false

3.  (A)and (R) both are false

4. (A) and (R) both are true

Options:

64535045999, 1
64535046000, 2
4835046001, 2
4535048002, 4

Question Number : 126 Question Id : 64635011688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ay (A) - 4 Ned= 3 gadl, Ted ok e @ et 3ot el & Wi | oYs
& TGS W @ Iiiifae fAug a5 & 95 &

d® (R) . 98 Mg o ok e 4|
el ST AU -

1. (A)TEaE, R) T8I

2. (A)TEE (R)TEA R

3. (A)3R(R) THITad gl

4. (A)SIR(R) TFIUE I

Options:
64535045999, 1
64535046000, 2



E4E35046001. 3
64535046002, 4

Question Number : 127 Question Id : 64635011689 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Assertion (A) : Padavarnam is one of the items in a Bharathanatyam Margam.

Reason(R) : Bharathanatyam exponent and guru Dhananjayan has coined a new
name for Padavarnam as Nrtyopahaaram.

Choose the correct answer :
1. (A)istrue and (R) 1s false
2. (A)and (R) both are true
3.  (A)and (R) both are false

4. (A)1s false and (R) 1s true

Options:

64835046003, 1
4535048004, 2
64535046005, o
64535046006, 4

Question Number : 127 Question Id : 64635011689 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

IFYF (A) : UGIUH HRaFICAH AFTH 3 0P Bia B

& (R) . YA HRAFICOH A% R T oS 7 UGdue & ol a1 ¥eg
“THIERA’ TgT &1
el IR gL
. (A)FEE SR (R) T B
2. (A)R(R) T W8 B
3. (A)dR(R) T TTEd El
4. (A)TEdE R (R) TEE

Options:
4535046003 1



E4E35046004, 2
64535046005, 3
64535046006, 4

Question Number : 128 Question 1d : 64635011690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : It 1s presumed that individuals display habitual movement patterns
which characterize their behaviour.

Reason(R) : The skilled impersonators mumic posture, walk, gestures and facial
mannerisms of well-known personalifies.

Choose the correct answer :

1.  (A)istrue and (R) 1s false
2. Both (A) and (R) are true
3. Both (A) and (R) are false
4. (A)1s false and (R) 1s true

Options:

64635046007, 1

64635046008 2

64535046005, 3
64535045010, 4

Question Number : 128 Question 1d : 64635011690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

B YT (A) : T AF Sl 2 5 aféw e emedw ufdme @c) <xfd § o o
FaeR @1 f[idvar gt 2

& (R) : WEUYRS Jiawerd giemdl @t garsi, =@rel, Surei (Goan, 988 &
%iwm%ﬁaﬁaﬁwaﬂ%%l e

g1 I g -

(A) T8 § 3R (R) T B
2. (A)IMRR) I T LI

3. (A)3R(R) THITEa B

4. (A)TEA T AR (R) FH T

Options:

et



EAE35046007,
54535045008,
64535045009,
64535046010,

[ N N

Question Number : 129 Question Id : 64635011691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Assertion (A) :  “Dwipadi’ literally means a composition of two metres or two verses.

Reason(R) : Bhoj refers to “dvipadi’ as one of the features of nartanaka, a minor
drama (prekshyaprabandha)

Choose the correct answer :
1. (A)is true and (R) is false
2. (A)is false and (R) 1s true
3. (A)and (R) are true
4. (A) and (R) are false

Options:

64635046011, 1
4835046012, 2
45350460132 2
64535046014, 4

Question Number : 129 Question Id : 64635011691 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AMHYT (A) - Temer @1 s ord & St arvar & Uit Bt = B

@ (R) - Ui 7 Ut &1 o Ay e meavey) Tdie @ foxiedT sarn 811
TR IR AT
1. (A) R 8 3R (R) Tod B

2. (A)Tad g 3R (R) & 2
(A) 3R (R) TFI IS B
(A) 3R (R) &1 e &

L

-

Options:
4635046011, 1
64535046012, 2

64535046013, 3



E4E35046014. 4

Question Number : 130 Question Id : 64635011692 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : Kathakali essentially was not a temple art.

Reason(R) : Kathakali has become an important dance during temple festivals.

Choose the correct answer :

—
.

(A)1s false and (R) 1s true
2. (A)and (R) both are true

3.  (A)and (R) bothare false
4. (A)istrue and (R) is false

Options:

64535046015, 1
64535046016, 2
64535046017, 2
4835046018, 4

Question Number : 130 Question Id : 64635011692 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HBYF (A) : YDA Aara: AR T a1 4Tl
@ (R) . YD AT Il H GRH TP "yl Td B
T TR IAT -

. (A)Tad e 3R (R) T8 &

2. (A)IR(R) T T )

3. (A)3R(R) TFITEd gl

4. (A)FEE IR (R) e

Options:

645350468015, 1
4835046016, 2
4535048017, 2
64535046018, 4

Question Number : 131 Question Id : 64635011693 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : In traditional dance teaching so much depended on the individual
dancer’s ability to interpret every word and line, there was no
sameness in teaching.

Reason(R) : One leamt dance with no consciousness of performing.

Choose the correct answer :

[

(A) 1s true and (R) is false
2. (A) and (R) both are true

3. (A)isfalse and (R) 1s true
4. (A) and (R) both are false

Options:

64835046019, 1
4535048020, 2
64535046021, 5
4535046022, 4

Question Number : 131 Question Id : 64635011693 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

IHYT(A) | ITRERS T e orfd gR1 s g 3R tfed @t veRfa fd 9=
&HT TR 31 e & ot 3R wdes freor & vegamar = 4

d& (R) . oIfda v vgfa &t Sea-an 9 T Tl Hikadn o7
gl IR IR :

1. (A)¥E g 3R (R) Tad B

2. (A)IRR) T T

3. (A)Tad 8 R (R) eI

4. (A)IR(R) THITTea g

Options:

64535046019, 1
4535046020, 2
64535046021, 5
64535046022, 4

Question Number : 132 Question Id : 64635011694 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II :

List—I List—II
(a) Kathak : Fusion and Diffusion (1) Mandwvi Singh
(by Innovative changes in Kathak (i) Damayanti Joshi
(¢) Raigarh mei Kathak (i11) Ranjana Srivastava
(d) Madam Menaka (1v) Mansi Saxena

Choose the correct option from those given below :
L (-, () (e)~1v); (d)-)
2. (a)-(w); (b)~); (e)-v); (d)-i)
3. (@-; &)-w); (e)-v); (d)-1u1)
4. (@-(u); (b)-v); ()-1); (d)-1)

Options:

64835046023, 1
4535048024, 2
64535046025, o
64535046026, 4

Question Number : 132 Question Id : 64635011694 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 B gE-11 o i B
-1 a1
(a) TYF: TG US SR (i) wigalfEg
(b) THRRT IS T BUB (i) HAd SR

(c) TG H HYDH (iil) ¥ Sarag
(d) HSHATH (iv) A ge
iU U fds el § © 9l 3T &1 I S ;

L (a)y-(un); (B)~1); (e)iv); (D))
2. (@-(b); (b)-); ()1v); (d)—(ii)
3. (@-@); ®)); (e)~1v); (d)-(ii)
4. (@-(u); (b)-(v); (c)-1); (d)-1)

Options:



EAE35046023. 1
64535046024, 2
64535046025, 3
64535046026, 4

Question Number : 133 Question 1d : 64635011695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List—I with List—II ;

List-I List—II
(a) Kuditta mettu (1) Padam
(b) Muktayi swaram (1) Adavu
(¢) Sanchari bhava (i11) Jatiswaram
(d) Nritta (1v) Varnam

Choose the correct option from those given below :

1. @-Gv); (b)-Gb); (e)-(id); (d)-()
2. (@-G); 0)-av); ()—1); (i)
3. (@)-); (b)Hi); (e)(iid); (d)—v)

4. (a)-(m); (b)H); (¢)-(1v); (d)-(1)
Options:
64535046027, 1
G4AE3504E8028. 2
64535046029, 3
64535046020, 4

Question Number : 133 Question Id : 64635011695 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Felt—1 I GeE-11 § gAferd i

-1 eI
(@) PlGHY @ ueH

(b) YEdrH W™ (i) 3/eg
(¢) H=rflHi@ (i) SifcRaH
(d) T (iv) auim
f3u U el 9 9&t IR &1 99 S -
L. (a)-v); (b)-(1); (c)-(ui); (d)-1)

2. (- (0)-v); (0-); (d)-(u)
3. (@)-@); (b)) (e)-1m); (d)-(v)
4. (@)-); (b)~1); (¢)-1v); (d)-(i)

Options:

645350468027, 1
64535046028, 2
4835046029 2
4535048020, 4

Question Number : 134 Question Id : 64635011696 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with Laist—II :

List—I List—II
(a) Maninsky Theatre (1) Germany
(b) The New York City Ballet (1) St. Petersburg
(¢) Pars Opera (1) New York
(d) Stuttgart Ballet (iv) Paris

Choose the correct option from those given below :
L. (a)-); (b)(il): (¢)-1v); (d)—1)
2. (a)-); (b)) (¢)-(v); (d)-(1)
3. (a)-); (b)yAm); (c)-11); (d)-av)
4. (@D (b)), (e)-m); (A1)

Options:



E4E35046021. 1
64535046032, 2
64535046033, 3
64535046024, 4

Question Number : 134 Question Id : 64635011696 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 @1 eI § gAferd i -

Tat-1 -1
(a) ART! YR @ e

(b) T gue Rt Sa (i) ¥e dicwi
© o shemT (iii)
(d) T e (iv) oRw

U U Aol § 9 I8 3T &1 997 S

L (), (b)-(m); (€)-v); (d)-Q)
2. (a)-); (0)H1); (e)1v); (d)-Gi)
3. (@)D (b)(iid); (e)(i); (d)-1v)
4. (@)D, (b)(iv); (e)-ii); (d)-(i)

Options:

64535046031, 1
64535046032, 2
64535046033 2
45350480324, 4

Question Number : 135 Question Id : 64635011697 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I wath List-II

List-I List-11
(a) The Dancer’s Heritage (1) Walter Sorell
(by The Dance through the Ages (11) Jack Anderson
(¢c) Problems of Art (111) Ivor Guest
(d) Dance (1v) Susanne K. Langer

Choose the carrect option from those given below :
L (@i, (0)-v); (e)-@); (d)-{1)
2. (&) (b)~); (e)-(m); (d)-(1v)
3. (@) (b)-(1); (c)-(1v); (d)-(11)
4. (@)-1); ®O)-Hv); (©-Gu); (d)-(1)

Options:

64635046035, 1
64535046036, 2
64535046037, =
64535046038, 4

Question Number : 135 Question 1d : 64635011697 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tdl-1 @I GeEi-11 & gAfed sifer
a1 GeAl-1I

(a) TS eles (i) dree IR

(b) @ YT o (i) o TS

(0) Tiedwy aifth amé (i) R TE

@ =sig (iv) TTH AR
3T T Ao | | I8 IO &1 99 B ;

L (a)-(u); (b)-v); (¢)-Q); (d)-(1)
2. (a)p-); 0)HD); (e)-i); (d)-(v)
3. (@)-am); )1, (e)-v); (d)-(n)
4. (a)-1); (b)~(iv); (e)—(ut); (d)—-(1)

Options:
64535046035 1



E4E35046036. 2
64535046037, 3
64535046025, 4

Question Number : 136 Question 1d : 64635011698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List—I with List-II :

List-I List—II
(a) Pundnk Vitthal (1)  Mrichhakatikam
(b) Bhaas (i1) Nnttaratnavali
(¢) Shoodrak (11) Nartanamrnaya
(d) Jaysenapat (iv) Urubhangam

Choose the correct option from those given below :
L (@-1); (b)-i); (¢)-(v); (d)-1i)
2. (@il )-iv); ()-0); (@)
3. (@) (b)-(m); (c)~w); (d)-(v)
4. (a)y-(u); (b)-(1v); (c)-Q); (d)-(11)

Options:

64535046039, 1
4535048040, 2
64535046041, 5
64535046042, 4

Question Number : 136 Question Id : 64635011698 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tet-1 &1 GeEi-11 9 gAfed S
-1 -1
(a) UYsh® facsd i) TBDCIH
(b) Y™ (i) ToRA™e!

() Lo (iii) == vl
(d) TP ni | (iv) ITHTH
fau U fAwwl H 9 92 I @1 99 S -

L (@) (b)), (¢)-1v); (d)-(1)
2. (a)-i); (b)-(v); (e)-1); (d)-1)
3. (a)-@); (b)) (c)-1); (D-Qv)
4. (@-(id); (b)Hiv); (e)1); (d)-i)

Options:

64535046039, 1
64535046040, 2
64835046041, 2
4535048042 4

Question Number : 137 Question Id : 64635011699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List—I with List—II :

List-I ListII
(a) David Vijayam (1) Instrument
(b) Minukku (ii) Hunter
(c) Chenda (iil) Makeup
(d) Karunthaadi (1v) Kumaran Nair

Choose the correct option from those given below :
L (@), ®—w); (©-1); (d-av)
2. (a-v); (b)-(u); (-1 (d)-a)
3. (@) (b)-v); (e)-(m); (d)—(11)
4. (a)-); (b)), (c)-1v); (d)-(u1)

Options:



E4E35046043. 1
64535046044, 2
64535046045, 3
64535046046, 4

Question Number : 137 Question Id : 64635011699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 B -1 9 e ST
i1 el-11

(a) Sfas emH (i) daETF

(b) frge® (i) R

(c) d=al (iii) *T T

(d) FoUae! (iv) PHRA AR
iU U fiwedl # I 9Et IR &1 T So

L (a)-(u); (0)-1); ()); (d-v)
2. (a)-Qv); (b)-(ui1); (¢)-(1); (d)-(11)
3. (@-); (b)-(v); (o)-(u); (d)-1)
4. (@-w); (0)H1); ()-v); (d)-(u)

Options:

45350468043, 1
64535046044, 2
64535046045 o
64535046046, 4

Question Number : 138 Question Id : 64635011700 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List—II :

List-] List-II
(a) Jhumka (1) Head ormament
(b) Tahia (1) Hand ornament
(¢) Bahichoori (ii1) Ear ormnament
(d) Bengapatia (1v) Waist ornament

Choose the correct option from those given below :
L (a)-@i1); (D)), (e)-11); (d)-av)
2. (i) (0)(i); ©)iv); (@)
3. (a)-(u); (b)-Qv); (¢)-0); (d)-(1)
4. (a)-(m); (b)) (¢)-1); (d-v)
casas045047. 1
64635046048, 2

645350465049, 3
E4E35046050. 4

Question Number : 138 Question Id : 64635011700 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 B -1 ¥ gAfed S
-1 -1

(a) FHDI @) R My

(b) e (il) BT T THET

(c) dfggst (i) D D1 I

(d) sfean (iv) R B T
f3T U faweul # 1 5l SR BT I07 DI :

L (-); —1); (e)-(1); (d)-(v)
2. (a-(u); ()); (e)-v); (d)-0)
3. (a)-u); (b)v); (e)-@); (d)-1)
4. (a)-(ui); (b)—); (e)—1); (D-av)

Options:
645350468047, 1



E4E35046045. 2
64535046045, 3
64535046050, 4

Question Number : 139 Question 1d : 64635011701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List—I with List-II :

List—I List—II
(a) Uday Shankar (1) Flying Cranes
(b) Mnnalim Sarabhai (1) Man and Machine
(¢) Narendra Sharma (111)  Amur Khusrow
(d) Maya Rao (iv) Tasher Desh

Choose the correct option from those given below :
L (@) (b)-(m); (¢)~(1v); (d)-(u1)
2. (a)-(i); (b)), (¢)—1); (d)-av)
3. (@), (0)H1); (e)—1v); (d)-()
4. (a-(u); (b)-1v); (0)-1); (d)-(u)

Options:

64635046051, 1
4535048052, 2
64535046052 5
64535046054, 4

Question Number : 139 Question Id : 64635011701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a1 &1 Gi-11 | gaferd sifon
Tet-1 -1

(a) TSI IH () WIS

(b) FoferT HRIHTR (i) A uus AYiA

(¢) 5 ml (i) 3R gE

(d) wETTE (iv) TR
feu U fdweul °§ O 98! 3T &1 99= Sife

1 (@), (b)), (e)-(1v); (d)-(i)
2. (a)-); (Mn); (1) (d-av)
3. (a)-(); (o)1) (e)~1v); (d)—(uii)
4. (a)-Gi); (b)~(iv); ()-(1); (d)—(uii)

Options:

64635046051, 1
64535046052, 2
64535046053 =
64535046054, 4

Question Number : 140 Question Id : 64635011702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List—I with List-II :

List-] List-II
(a) Indian classical dance (1) S. Janaki
(b) Nartanam (1) Leela Venkataraman
(¢) Asian dance (1) Sahrdaya Arts Trust
(d)y Sruti (iv) Dr. Kapila Vatsyayan

Choose the correct option from those given below :
(a)-(ib); (b)(iii); (&)~(1); (d)—1v)
2. (a)-(); (b){u); (0)-(1v); (d)-(1)
(@)-(iii); (b)~(1); (¢)—(iv); (d)-(ii)
(a)-(1); (b)(ii); (e)~(iv); (d)—(iii)

[a—

o

e

Options:



E4E35046055. 1
64535046056, 2
64535046057, 3
64535046058, 4

Question Number : 140 Question Id : 64635011702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i1 @1 g1 | GHfod ST
-1 11

(a) 3feT" TEa ™ i) uE st

(b) == H (i) drardseHT

(c) UREHSN (iil) WReH 3cH g

dy gfa (iv) o e s
iU U fA@el A 9 9 SR &1 99 SIfo ;

L (a)-i); (b)(ii); (e)H1); (d)-v)
2. (a)-(); (b)), (¢)-(1v); (d)-Q1)
3. (@-aw); (b)~1); (c)-v); (D))
4. (@-@); (b)a); (e)~(1v); (d)-(u)

Options:

64535046055, 1
4535048056, 2
64535046057, o
64535046058, 4

Question Number : 141 Question Id : 64635011703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List—II :

List—I List—II
(a) Kalidas Samman 2018 (1) Revathi Ramachandran
(b) Kalakshetra Director (1) Narthaki Natarajan
(¢) Nritya Kalanidhi (111) Lakshm Vishwanathan
(dy Padmashree (2018-19) (1v) Shanta Dhananjayan

Choose the correct option from those given below :
L (@), (b)Hiv); (e)-(ui); (d)-1)
2. (a)-(); (b)av); (o)-(1); (d)-(ui)
3. (a)-(m); (b)-(); (¢)-(v); (d)-()
4. (a)-(u); (b)-(1); (¢)-(1v); (D)
Options:
cicasoacons

E4E3504E6061. 3
EAE35046062, 4

Question Number : 141 Question Id : 64635011703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 B 11 I gHferd S
a1 11

(a) HIEIGN I 2018 1) Yadt IHEEr

(b) e Fese (i) A TeIe

(¢) 4 & AfY (i) @eH fag=me

(d) uzrst (2018-19) (iv) ian y=oE=
f&T U Al § 9 95l I &1 98- Sifo

L (@)-Q); (b)-(v); (e)-(u); (d)-(1)
2. (a)-@); 0)Hv); (¢)-); (d)-(m)
3. (a-Qu); (b)—1); (c)v), (d)-(11)
4. (@), (b)), (©)-1v); (d)-@)

Options:
64535046059 1



E4E35046060. 2
64535046081, 3
64535046062, 4

Question Number : 142 Question 1d : 64635011704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the correct sequence of Kathak items [in ascending order as per the oral
traditions] :

1.  Tatkaar, Tukda, Abhinavya, Gat
2. Tatkaar, Tukda, Gat, Abhinaya
3. Abhinaya, Gat, Tukda, Tatkaar

4, Tukda, Tatkaar, Gat, Abhinaya
Options:
64635046063, 1
64635046064, 2
64635046065, 3
64635046066, 4

Question Number : 142 Question Id : 64635011704 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HYG Tl & Tel HH DI g Do (AIfEs TR & 39K 3RS HH 7

. d&R, ghel, 3HH=a, Td

2. TR, gHel, Td, dfHT

3. 3i%ET TG, el TR

4. TSl THR, T, 3T

Options:

64535046063, 1
64535046064, 2
4835046065 2
45350480686, 4

Question Number : 143 Question Id : 64635011705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the sequence of gurus from North to South India according to the place they
live :

L Saroja Vaidyanathan, C. V. Chandrasekhar, Sucheta Chapekar, Mandira
Bora

2. Mandira Bora, Saroja Vaidyanathan, Sucheta Chapekar, C. V.
Chandrasekhar

3.  C. V. Chandrasekhar, Saroja Vaidyanathan, Mandira Bora, Sucheta
Chapekar

4. Sucheta Chapekar, Mandira Bora, C. V. Chandrasekhar, Saroja
Vaidyanathan
Options:
64635046067
64635046068
64535046069,
64535046070

[ N

Question Number : 143 Question Id : 64635011705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frafefed Teei & Fad-w= &1 391 9 gl & wa § saefyd sifon :
1. ORI deE, O @ IR, gaaT I, Hie IR
2. TR 91, WIS dayE, GRaT Enes, @ §f aRer
3, i TR, IR deEY, HieRT IRT, gadT 9t
4, FAd A0eR, Hiew SR, § Ff TR, W dEeE

Options:

4535046067, 1
64535046068, 2
64535046069, =
4835046070, 4

Question Number : 144 Question 1d : 64635011706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the correct sequence according to traditional Odishi performance :
1.  Batu, Mangalacharan, Pallavi, Mokshya, Abhinaya
.8 Mangalacharan, Batu, Pallavi, Abhinaya, Mokshya
3 Pallawvi, Batu, Mangalacharan, Mokshya, Abhinaya

4. Mangalacharan, Pallavi, Batu, Mokshya, Abhinaya

Options:

4535046071, 1
4535046072 2
64535046073 =
64535046074, 4

Question Number : 144 Question 1d : 64635011706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

oS S vegfd & SUR 981 %H &1 UgdH Sifer :
1. g HIaTERy, Tewdl, Jie, S
2. HIATERU, §g, Ueddl, T, Higf
3. Uerd, §g, FTAER, Jig, S
4, HIETERU, YT, 9, Hig, S

Options:

64535046071, 1
64535046072, 2
48350460732 2
4535048074, 4

Question Number : 145 Question Id : 64635011707 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List—1 List—11
(a) Rukmini Arangham (i) N.C.P.A.
(b) Godrej Theatre (1) R.B.U.
(¢) Stein Theatre (1) Kalakshetra
(dy Jorasanko (ivy LH.C.

Choose the correct option from those given below :

L. (a)ui); (b)—(1); (e)Hiv); (d)-(i)
2. (a)y-(u); (B~w); (©)-1); (d)-(v)
3. (a@); (b)) (e)-v); (d)-(u)
4. (a)-1); (b)-(u); (e)-(11); (d)-(iv)

Options:

64635046075, 1

64635046076, 2

64535046077, 3
E4E3504E8075. 4

Question Number : 145 Question Id : 64635011707 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 &t -1 3 gafed s
-1 -1

(a) ol egH (i) wHEdlo

(b) Tes R (i) om .7

(¢) %A (iii) Haea

(d) e (iv) °MREE.
fou U fAeedi § 9 9E I9R &1 9 Do ;

L (a)-@u); (0)-1); (e)-av); (d)-(1)
2. (a)-(u); (B)(in); (0)~(1); (d)-(v)
3. (a)-); (b)-Q); (e)-v); (d)-i)
4. (a-Q); (b)-(a); (c)ii); (d)-Gv)

Options:



EAE35046075. 1
64535046076, 2
B4E35046077. 3
64535046075, 4

Sub-Section Number: 2
Sub-Section 1d: 646350553
Question Shuffling Allowed : Yes

Question Id : 64635011708 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

Direction : Read the paragraph given below and answer the question that follow :

Dance is neither a matter of anthropology nor archaeology nor history, and for that matter 1t
is not literature, poetry, sculpture, painting, as even music. It is first and foremost the human
body. the physical human body, as an instrument of expression, primitive, elemental. simple,
concrete, imitative and vet sophisticated, abstract, symbolic and spiritual. The human body,
physical and gross, becomes the instrument of that which is the quintessence of life at its
subtlest. In India, we consider that there 1s the gross body and there is the subtle body. The
two are inter-dependant. The gross can ascend to the subtle, and the subtle 1s embodied in the
gross. Patterned, disciplined movement is one amongst several paths by which the gross can
become the subtle in analytical terms. The body becomes a vehicle of communication, a
universality which 1s not specific to particular aesthetics or a culture, but it transcends the
specific, the group, and above all acquires a cosmic sigmficance. It points to the fact that the
body can and does move from the physical to the metaphysical, from the grossest to the
subtlest. While the image brings before us a conception and an ideal, we must think of the
physical body and its capacity for expression at all levels in more concrete terms. Some
valuable work has been done, especially by kinesiologists and movement analysts, and there
is the monumental tone of Natyashastra, there 1s to date no system of movement analysis
which can help the dancer or dance analyst to proceed from both the outside and the inside of
the dancer’s body in time and space.

—Kapila Vatsyayan
Asian Dance

Sub questions

Question Number : 146 Question Id : 64635011709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List—I List-I
(a) Dance (1) Sophisticated
(b) Physical human body (11) Metaphysical
(¢) Gross body (111) Human body
(d) Physical (iv) Subtle body

Choose the carrect option from those given below :
1. (a)-Q); (b)-(n); (e)-1v); (d)—(1u1)
2. (a)-Qv); (b)), (c)-(u1); (d)-Q)
3. (a)-(u), (b)), (e)iv); (d)-(1)
4. (a)y(); (b)1); (e)-{1i1); (d)—(1v)
caeaE046075. 1
64635046080, 2

E4E2504E8081. 3
E4B2504E8052. 4

Question Number : 147 Question Id : 64635011710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : The body becomes a vehicle of communication, a unmiversality which
is specific to a culture.

Reason(R) : The body transcends the specific and acquires a cosmic significance.
Choose the correct answer :

1. (A)is false and (R) 1s true

2. (A)and (R) both are true

3. (A)1istrue and (R) 1s false

4. (A) and (R) both are false

Options:

64535046083, 1
64535046084, 2
64835046085 2
4535048086, 4



Question Number : 148 Question Id : 64635011711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Dance 1s first and foremost the matter of what?

1.  Literature
2 Poetry
3. Sculpture

4. Physical human body

Options:

64535048087, 1
64535046088, 2
48350460289 2
4535045090, 4

Question Number : 149 Question Id : 64635011712 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who has worked to help the dancer to proceed from both the outside and the inside of
the dancer’s body 1n time and space?

1.  Research scholars
2. Movement analyst
3.  Yoga practitioners

4, Medical doctors

Options:

64835046091, 1
4535048092, 2
64535046092, o
64535046094, 4

Question Number : 150 Question Id : 64635011713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



How and through what do we think of the physical body and its capacity for expression
at all levels in more concrete terms?

1. Study of kinesiology

2. Study of stage geography
3. Use of lights

4. Study of karanas

Options:

E4E35046055. 1
64535046096, 2
64535046097, o
64535046098, 4

Question Id : 64635011708 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

frdm « Fufafaa Ty ot ofeu ok vy & IR St -

T T a FhagE, 7 & Wa sar 3R 7 ¢ sfigw ot fAva a5 81 98 S|, I, ;
FeR 3R griid @t Ht favg 9% 781 81 98 9dvyd 3R 9afuik A9 IRR 8, S siivefed & are=
%mﬁ%mm,m,mw,mmwaﬁ@mﬁ%mg
vdieTare 3R e BT 21 Hifaw iR ®E & ®U § 4d IR IY IS &1 I & o 8,
Sl GeAdH TR R d@ 21 89 HRd § 1 € b e TR 3R gegr TR grar 21 3 o siaw-fAvR B
igamﬁ@mﬁﬂﬁw%ﬁ?ﬁm@mﬁmﬁ%a%l iy (@hTelen) eFe

A T U g, e g V@ AxavuneEs ol # geH 99 9l ¢ | IRR YUSY B U IS &
H&dl ¢ 98 SdaaTusmdl § gl 8, O AR Sicdue a1 $%pfd % SR ° A%y T8 g, diew a8
fafRTE Tt 9HE & W ST € iR IS9 ARayyl 91d I8 % 98 § TS favic ©9 U5 S

I8 39 T %! 3d Sl § 5 TR Hifde & afde ok FRRraw & ggaam ot ok 1fawe 8t 9w

2 auT Sid1 21 B THR 9THR U YRUN 3R U 3eyf &t & g, saferm g arfde o aryf

H Hifge IR 3R 39 T4t T 0X eifieafed @t el & SR AR s @1idu 39 aR § 3Fe

faRvg fARver nfoww Rl @rafeiaineg R Ta fAwavs! @ade uferes) =

IS 31 TTe- [Awau-ard a1 € @R 2E do Ta-Awevn St o0t S5 goret =gt 8 o 7d

g%awﬁnﬁwﬁw&hwﬂW%waﬁumaﬁwﬁﬁmaﬁﬁmm
|

CACRIEIRIIRE
UiRrE= S

Sub questions

Question Number : 146 Question Id : 64635011709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 1 gEt-11 | GHferd St
-1 -1

(@) T3 i) uRepd
(b) Hifd® ArFa IR (i) dfes
(¢) RY@IR (iii) A7 /R
(d) e (iv) JeA TR

f3U T AT 7§ T2t IR BT T97 SN ;

(a)—(1); (b)1i1); {(c)~1v); (d)-(i1)

2. (@)-(v); (b)), (¢)-ii); (d)—1)

(a)—(ii1); (b)~(1); (c)—(1v); (d)—(i1)

(a)—(i1); (b)(1); (c)Hi1); (d)-(1v)

et

»

=

Options:

4635046073, 1
64535046080, 2
64535046081, =
64535046082, 4

Question Number : 147 Question 1d : 64635011710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AHBYF (A) : INR TN BT U 98P §7 Adl 21 T8 Jaemvedl J g €, o ARy
U iy J g=g 2

@& (R) . IR AR & W @1 8 ok ue e w9 vgw a2
gl I g :

. (A)TEd 3R (R) TSI

2. (A)R(R) T T 2

3. () R(R) T

4. (A)IR(R) T TTEd g

Options:

64535046083, 1
45350460384, 2
64535046085, o
64535046086, 4



Question Number : 148 Question Id : 64635011711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T et T R afuf v o 27
1. iR
2. FA
3. Hide
4. Yifd® g |WR
Options:

E4E3504E8087. 1
EAE35046088. 2
E4E35046089. 3
64535045030, 4

Question Number : 149 Question 1d : 64635011712 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e IHg o WH H Tde & 'l 3R 3iide oFl Ul 4 31l g H o @ Jeradl
B2

1. =Y e

2. Tid fdwise
3. gEmearEt

4. Aised S

Options:

64835046091, 1
4535048092, 2
64535046092, o
64535046094, 4

Question Number : 150 Question Id : 64635011713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



&g vpR AR Has mem 3 g Afte a9 ol # Yifde TR ok Iuet uHt T R
Jfirerfan &t emdr o2 fA9R &3d 22

1. TidenH fagm @rg-Risiiars) o1 e
2. Y 3G (RS RIS B e

3. TR HaRIT & JudiT

4. Rl G ARG
Options:
64535046095, 1
4835048096, 2
64535046097, 5
64535046098, 4

FART IV Drarra and Theatre

Section Id : 646350308

Section Number : 4

Section type: Online

Mandatory or Optional: Optiona

Number of Questions: 46

Number of Questionsto be attempted: 46

Section Marks: 100

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 646350554
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 64635011714 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following terms describes a person’s pronunciation of words and
manner in which the person expresses himself or herself?

L, Diction
.8 Malect
3. Accent

4. Pronunciation

Options:
64535046099, 1



E4E35046100. 2
64535045101, 3
64535046102, 4

Question Number : 151 Question 1d : 64635011714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fafafaa & @ FF-91 ug ue afe gr1 U= & S=R SR W 39 oafad gR1 sifioread
&L &b il Bl gUH B g7

1.  HWY=ER
2. ddl

3 gl

4. T=ERU

Options:

645350468099, 1
4535045100 2
64535046101, 5
64535045102, 4

Question Number : 152 Question Id : 64635011715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following forms of drama deals with joyousness and mirth while
using humbler figures?

1. Comedy

2. Melodrama
3.  Satire

4.  Tragedy

Options:

64535046103, 1
64535046104, 2
64835046105 2
64535046106, 4

Question Number : 152 Question Id : 64635011715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fofef@a § 3 =ce &1 -3 T vEwda iR HE-UHe 3 J6fi g o afte fmw
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. g @HS)
2. HASH (Sifd TeH TicdH)
3. WS @CRR)
4. TEEIRS (GO

Options:

4635046103, 1
64535046104, 2
64535045105, =
64535045106, 4

Question Number : 153 Question 1d : 64635011716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Pick the odd one out in the context of their concept and practice :

1.  Meyerhold — Constructivism

2. Peter Brook — Holy Actor
3.  Augusto Boal — Forum Theatre

4. Antorin Artaud — Theatre of Cruelty

Options:

64535046107, 1
64535046108, 2
64835046109 2
45350451104

Question Number : 153 Question Id : 64635011716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 STYROT 3R FH-aF (e & ded A fivw st gfu
1.  HREREIS - AN (Bgieciaen)
2. Ui gD - el ToR
3. il i - B e
4. AT ol - RdeR 3t guet

Options:
64535046107, 1



E4E35046108. 2
64535046105, 3
64535045110, 4

Question Number : 154 Question 1d : 64635011717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following antirealistic movements emphasizes the symbolic nature of
theatrical presentation and the abstract possibilities of drama?

1.  Expressiomsm
2. Symbolism
3. Surrealism

4. Theatricalism
Options:
6453504651111
64535046112 2
64535048112 2
64535045114, 4

Question Number : 154 Question Id : 64635011717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Foreed ® SH-a1 gyrfae-fERid i T vl $ weee Tl R AeE Bt
3P FHIETIS TR 99 a1 87

1. SifYedemmEg Eeausen)

2. Udiearg (Eifae)
3. ifcayriarg (Gaten)

4. AcoEal (Rafiteie)

Options:

64535046111, 1
64535046112, 2
64835046112 2
4535045114 4

Question Number : 155 Question Id : 64635011718 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following terms defines the science of drama, the art of play
construction, sometimes used to refer to play structure itself?

1.  Dramaturge
2. Dramaturgy
3.  Dramatic

4. Drama

Options:

64535046115, 1
64535046116, 2
64835046117, 2
4535045118 4

Question Number : 155 Question Id : 64635011718 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fFofafaa 7 9 oF9-1 T Aice & Ry Ace @1 3t o, aH-a4 g Aree 3 9@

H Ui fu o & ded A ehva sxar g 2
L:; AlCh DR
2. ATl
3. Ao
4.  TTH
Options:

E4535046115. 1
64535046116, 2
64535046117, 3
645350461158, 4

Question Number : 156 Question Id : 64635011719 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Pick the odd one out in the context of the characters of August Strindberg’s The Dream
Play :

1i: The Portress
2. The Lawver

3. The Poet
4.  The Teacher

Options:

4835046119, 1
4535045120 2
64535046121, 5
4535046122, 4

Question Number : 156 Question Id : 64635011719 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

st Wt & 'z g @ 3 upt ¥ e e w1 g

. TUeH
2. TURR
3. TUEC
4. TR

Options:

64535046119, 1
64535046120 2
64535046121, =
64535045122 4

Question Number : 157 Question 1d : 64635011720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following terms has been used for a story told through music and
song, usually concerned with romance or adventure?

1. Fable

2. Myth

3.  Ballad

4. Fairy tale

Options:



EdE35046123. 1
64535046124, 2
64535046125 3
64535046126, 4

Question Number : 157 Question Id : 64635011720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafafaa & @ o W e Wiig <R fia & 7rerw | $8t T U Hert & o waad fean
T ©, S 2 dR WR A9 2R grefiedr § gefdd giar g7

1. Sdoul (haa)

2. faus
3. YT (EdS)
4.  W-HUI

Options:

64535046123, 1
64535046124, 2
64835046125 =2
4535045126 4

Question Number : 158 Question Id : 64635011721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Six Characters in Search of an Author written by Luigi Pirandello is related to which
one of the following styles?

1.  Expressionism
2.  Intellectual comedy
3.  Theatricalism

4. Theatre of cruelty
Options:
64635046127, 1
64635046128, 2
64635046129, 3
64635046130, 4

Question Number : 158 Question Id : 64635011721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T R g1 R e Riem Sveed 37 9 offs o7 offe’ Proffia # 3 g IR 9
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2. Wig® g e

3. WigaE (et
4. ¥R 3ffp Huwt

Options:

64535046127, 1
64535046128, 2
64835046129 2
4535045120 4

Question Number : 159 Question Id : 64635011722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Pick the odd one out in the context of the authorship of Sophocles :

1.  Antigone
2. Electra
3. Oedipus

4. Agamemnon

Options:

64535046131, 1
64535046132 2
48350461232 2
64535046124, 4

Question Number : 159 Question Id : 64635011722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hrplaciel & dE®HE & deH d [Av9 & g ;
1. G
2. s@agl
3. %309
4.  TIHEANR

Options:



E4E35046131. 1
64535046132, 2
645350468133, 3
64535046134, 4

Question Number : 160 Question Id : 64635011723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following periods represents a grand revolution in thinking a new
awareness of the individual’s potential as a reasoning, creative and possibly heroic
being?

1. Dark Age
2. Medieval Period
3.  Classic Period

4.  The Renaissance

Options:
64535046135 1

E4E350468136. 2
E4E35046137. 3
645350461358, 4

Question Number : 160 Question Id : 64635011723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fofafad o 9 @F-9 oEl te ahwe, goRid R Jyad: 9R & ®U ¥ Jafeas
YT F1 T2 TNEodl & 994 H R o1 Herpii< o1 viaf=fia o 2|

1. SigBR I
2. AEHEH 3aiy
3. Fanas 3|

4. QISR &Td

Options:

64635046135, 1
4835046136, 2
64535046127, 5
64535046128, 4

Question Number : 161 Question Id : 64635011724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A clown type of role in Peking opera 1s known as :

1.  Sheng
2. Chou
3. Dan
4. Jing

Options:

64535046139, 1
64535045140, 2
64835046141 2
4535045142 4

Question Number : 161 Question Id : 64635011724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

tifdT ST § Rigye TeR & Yite! Fufiad § @ @ sead 82

. =
2. 43
3. &
4. fom

Options:

64535046139, 1
64535046140, 2
64535046141, 5
64535045142 4

Question Number : 162 Question Id : 64635011725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s a modern form of drama incorporating Chinese folk
dance and Western ballet techmiques?

1. Wuu

2. Jingxi

3. Topeng
4. Gambuh

Options:



EdE35046143. 1
64535046144, 2
64535045145, 3
64535046146, 4

Question Number : 162 Question Id : 64635011725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fofafed § § 9-91, Alce @1 @ ayfie w0 ¢ e 9+ die 9 ok ufind 98 @@
qo=1e SHE 27

. 99

2. forrst
3. 4

4 THE

Options:

64535046143, 1
64535045144 2
64835046145 =2
4535045146, 4

Question Number : 163 Question Id : 64635011726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Noh plays, the protagonist or the primary character donning a mask 1s known as
1. Wak

2. Kanami
3. Zeami

4. Shite
Options:
E4E825048147. 1
E4E250465148 2
E4535046149 =
64535046150 4

Question Number : 163 Question 1d : 64635011726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. gt
2. DA
3. foam
4.

Options:

4535046147, 1
64535046148, 2
64535046149 =
64535045150, 4

Question Number : 164 Question 1d : 64635011727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Pick the odd one out in the context of four kinds of Nepathya or Aharya abhinaya :

1 Pusta
2. Alankara
3.  Sangraha

4. Sanjiva
Options:
64535045151 1
E4E25048152. 2
E4525045153 3
64535046154 4

Question Number : 164 Question Id : 64635011727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ST 31YaT TR U & IR TRl & HeH # v @i g

. TH
2. 3OBR
3. W
4. Hoid

Options:
64635046151, 1
64535046152, 2



E4535046153. 3
64535045154, 4

Question Number : 165 Question Id : 64635011728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A traditional Japanese theatre consisting of a repertory of some 260 short plays,
celebratory and usually comic that are performed on a Noh stage is called

1. Buto

2.  Angura
3, Kyogen
4. Shinpa

Options:

64635046155, 1
4835046156, 2
4535048157, 2
64535046158, 4

Question Number : 165 Question Id : 64635011728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

260 TR TY ATce] & Aceds J 1 TRUNSG SHT e, of Iaudf 3R o aR o
EId g1 © 3R et Hee =i *o | a1 S &, Sean ¢ -

1. g

2. oW
3. &
4. =B

Options:

64535046155 1
64535046156, 2
64535046157, 5
64535046158, 4

Question Number : 166 Question Id : 64635011729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who 1s the author of Malati-Madhav?
1, Bhasa
3. Bhavabhut

3. Sudraka

4. Bhattanarayana

Options:

64535046159, 1
64535046160, 2
64535046161, 5
64535046162, 4

Question Number : 166 Question Id : 64635011729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HIddl-H14d & WA s g ?
. HN
2. {4
3. TS
4. HEARE
Options:

E4535046159. 1
64535046160, 2
64535046161, 3
64535046162, 4

Question Number : 167 Question Id : 64635011730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s NOT an application technicque of make-up?
1.  Highlights and shadows
2. Stppling
3.  Greasepaint

4. Corrective

Options:
4535046163, 1



edE35046164. 2
645350465165, 3
64535046166, 4

Question Number : 167 Question 1d : 64635011730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frafafad § 9 & 8%-30 31 U6 3EVan ao-s 81 87
. gEaRcd R IS
2. fRedfam
3. WeUx
4. Hifecd

Options:

64535046163, 1
E4E35046164. 2
4535048165 2
4535046166, 4

Question Number : 168 Question Id : 64635011731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is not a fabric used in costume construction?
l. Crepe
2. Leather
3.  Conoline

4. Flannel

Options:

64535046167, 1
64535046168, 2
4835046169 2
4535045170, 4

Question Number : 168 Question Id : 64635011731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. U

2. d9H

3. oA
4. AW

Options:

64535046167, 1
64535046168, 2
4835046169 2
64535046170, 4

Question Number : 169 Question Id : 64635011732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A National Theatre and Dance Festival ‘Kalidas Samaroh’ is organized in the city of

1.  Bhopal

2. Khajuraho
3. Ujjain

4. Indore

Options:

4835046171, 1
E4E3504E8172. 2
64535046172, 5
64535046174 4

Question Number : 169 Question Id : 64635011732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TF TP TR SR T4 I FTaier 9aRe 59 e | s & s 82

1. U™
2. Wl
3. Q&

4. FR

Options:
64535046171, 1
4835046172 2



E4E35046173. 3
64535046174, 4

Question Number : 170 Question Id : 64635011733 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following 1s NOT a variety or type of flat?

1. Plain
2. Door
3. Jack
4. Jog

Options:

64635046175, 1
64535046176, 2
64535046177, 2
4835046178 4

Question Number : 170 Question Id : 64635011733 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFofafad & 3 uie 3t H9-H/FeH-91 U G a1 Ter gl 87

. wH
2. SR
3. W%
4, S

Options:

64535046175, 1
64535046176, 2
64535046177, 5
64535046175, 4

Question Number : 171 Question Id : 64635011734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The book Actors, Pilgrims, Kings and Gods : Ramlila of Ram Nagar was written by
1.  Anuradha Kapur
2. Amal Allana
3.  Tnpuran Sharma

4. Kirti Jain
Options:
6453504617931
64535046180, 2
64535046181 2
G4AE3E048182. 4

Question Number : 171 Question Id : 64635011734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ty, foafin, g e Tiigs : Tmeien 3 TR & AEd 2
L. SIS
2. S{HT AT

3. Brgafvemt
4. BidoH

Options:
64535046179 1

E4E350468180. 2
E4E35046181. 3
E4E35046182. 4

Question Number : 172 Question Id : 64635011735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The acting area in Kabuki 1s known as
1.  Shichi-San
2. Hanamichi
3. Tatami

4. Hiki maku

Options:
64635046183, 1
E4E350465154, 2



E4E35046185. 3
64535046186, 4

Question Number : 172 Question Id : 64635011735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HIg! § AT & Hearar ¢ ;
1. REtas
2. TR
3. ccH

4. TRomg

Options:

64635046183, 1
4835046134, 2
4535045185 =2
645350461586, 4

Question Number : 173 Question Id : 64635011736 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A picture made of various materials (e.g., paper, cloth) glued on a surface and can
include drawn or photographic images is called as

1. colour frame
2 colour media
3. cool colour

4. collage
Options:
64535046187, 1
4835046188, 2
E4E35046159. 2
64535045190, 4

Question Number : 173 Question Id : 64635011736 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gag W e 72 faftis Imial @y e, sus) 9 951 awiy, o smfEd 3ryar st
férg g i e 81 9ed g, e ¢ :

1. SHwBH
2. SuLHiSA
3. FAB®
4. Do

Options:
64535046157, 1

E4E350468188. 2
E4E35046189. 3
E4E35046130. 4

Question Number : 174 Question Id : 64635011737 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A stage completely surrounded by the audience is called as
1.  Thrust stage
2. Modern stage
3. Roman theatre

4, Arena stage

Options:

64635046191, 1
64535046192, 2
64535046193 2
4835046194 4

Question Number : 174 Question Id : 64635011737 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



E4E35046191. 1
645350461382, 2
645350461393, 3
645350461394, 4

Question Number : 175 Question Id : 64635011738 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The flat extension of the stage floor that projects from the proscenium arch toward the
audience 1s called

1.  raked stage

2. stageleft
3. apron

4. proscemum arch

Options:

E4E3504651595. 1
64535046196, 2
64535046197, =
64535045198, 4

Question Number : 175 Question 1d : 64635011738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

He e &1 GHd AR & WIERT 8 Dee! 1 3R 8], Headie
. WTEwA

2. HI S TME YA
3. HO® (W)
4. AR (U 3

Options:

64535046195, 1
64535046196, 2
64535046197, 2
4835046198 4

Question Number : 176 Question Id : 64635011739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Trace the odd one out in the context of picture frame stage :
1. Orchestra pit
2. Forestage (Apron)
3.  Balcony

4, Proscemium arch

Options:

64535046199, 1
64535046200, 2
E4E35046201. 2
64535046202, 4

Question Number : 176 Question Id : 64635011739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forer B R T & few @1 gf:
1. 9rERd
2. AW (W)
3. |l
4. TTER (VR )
Options:

E4535046199. 1
64535046200, 2
64535046201, 3
645350465202, 4

Question Number : 177 Question Id : 64635011740 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
To direct light from a lighting instrument to a specific area is called

1. focal
2. focus
3. flux

4. flush

Options:
64535046203, 1



E4E35046204. 2
64535046205, 3
64535046206, 4

Question Number : 177 Question 1d : 64635011740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

it v 43 3 & ARy =M W vew Se sEaar 2

. wied
2. Wiod
3. TEEE
4. T

Options:

4535046203, 1
64535046204, 2
64535046205, =
64535046206, 4

Question Number : 178 Question 1d : 64635011741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The circular area on which the majority of the action of the play takes place in a Greek
theatre is called

P

apron
2. stage centre
3.  orchestra

4. orchestra pit
Options:
64635046207, 1
64635046208 2
64635046209, 3
64635046210. 4

Question Number : 178 Question Id : 64635011741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T & SIgT gl AR § ATes &1 Siiei=T HeF &1 9ra i g -

1. HeEW (g
2. WHHAHA
3. Tl
4. dRRYA

Options:

4535046207, 1
64535046208, 2
64535046209, =
64535046210, 4

Question Number : 179 Question 1d : 64635011742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Pick the odd one out :
1.  Sanskrit theatre
2. Noh theatre
3.  Peking opera

4, Alternative theatre

Options:

64635046211, 1
4835046212 2
64535046212 5
64535046214, 4

Question Number : 179 Question Id : 64635011742 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fwH @1 g -

1. 9%pd g

2. AR

3. i st

4, sSffecfed fiaeR
Options:

E4E35046211. 1
EAE35046212. 2



EAE35046213. 3
64535046214, 4

Question Number : 180 Question Id : 64635011743 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Trace the odd one out in the context of the crew which 15 not under the direct
supervision of the stage manager :

1.  Propcrew
2. Stage crew

3. Sound crew

4. Paint crew

Options:

64635046215, 1
4835046216, 2
4535046217, 2
64535046218, 4

Question Number : 180 Question Id : 64635011743 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

% & Teu A 39 v @ gig, o 7 veye @1 vae -3 & it el g g

1. UUD

2. HI-HH

3. wiF-FT BH
4. UTH

Options:

64535046215, 1
E4E3504E6216. 2
4535046217, 2
64535046218, 4

Question Number : 181 Question Id : 64635011744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : A Bhavai performance consists of a series of Veshas (episodes).

Reason(R) : They are intercepted with narration, recitation, songs and dances.
Choose the correct answer :
1. Both (A) and (R) are false
2. (A)is correct and (R)1s false
3.  Both(A) and (R) are true
4. (A)1s false and (R) 1s true
Options:
64635046219,
64635046220,

EAEZ5046221.
EAEZI5046222,

o LIRS

Question Number : 181 Question Id : 64635011744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BT (A) : HATS WEdfa | At @) @t aEen =t il 21

& (R) . 3TH qui, Te) U1, Tt iR T g1 §9 | Sradry STe S g1
T I AT -

. (A)3R(R) I Taa 21

2. (A)FE g AR (R) e B

3. (A)3MR(R) T T &I
4. (A)TEd SR (R) TSR

Options:
4535046219,

EAE35046220.
EAE35046221.
BAE3504822%,

L N

Question Number : 182 Question 1d : 64635011745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : According to Panikkar, “There are certain challenges in Bhasa’s
plays. When we meet those challenges theatrically, aesthetically, we
discover new possibilities, new vistas in Indian Theatre Culture.”

Reason(R) : For example, in Madhyamavyayoga by Bhasa, a character lifts a tree
and fights with it. This could not be conceived as possible as in
modern theatre.

Choose the correct answer
1. Both(A) and (R) are false
2. Both(A) and (R) are true
3. (A)istrue and (R) 1s false
4. (A)is false and (R) is true
Options:
54635046223,
54635046224

EdEZ504E225.
EABZE04E226.

[ N

Question Number : 182 Question Id : 64635011745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

IHUT (A) UGB & SEER, “HN & Alcd! § SHiaud gl ¢ | ofd TTHdig 9 §
3 FHIfaa! ¥ THRT ITHA1 Bl € @ Sedaide 2 9 g6 YRdm STl
TEPHid DI 73 THEISN, U Al 1 91 gadl 8¢ |

b (R) . IRy, Y & AW S H Us 9 Ue U &1 331 ddl § SR 399
wodl 21 98 RIR smufie THg & dva =8t 9 o Sedt|

SECSREE Bl
1. (A) 3R (R) g Tad
2. (A)SR(R) TFI Tl B

!

(A) Tl 8 3R (R) TTerd &
4. (A)Tad e R (R) TEIgl

Options:
64535046223, 1
64535046224 2

EdB2504E8225 3



EAE35046226. 4

Question Number : 183 Question Id : 64635011746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : The ‘drama in modern India’ is that social reform and anti-colomal
movement of a whole century and the two World Wars shaped the
themes in various languages of India.

Reason(R) : On the literary and critical front, the influences of Marxism,
psychoanal ysis, symbolism and surrealism were some influences that
dominated the early twentieth century.

Choose the correct answer :
1. (A)istrue and (R) is false
2. (A)is false and (R) true
3.  Both(A) and (R) are true
4. Both (A) and (R) are false

Options:
4535046227, 1

EAE35046228. 2
BAE35046225. 3
64535046230, 4

Question Number : 183 Question 1d : 64635011746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AUBYT(A) : MYF® URA H A O Tard! & e JUR gyl IufRefieor &

Ay d Iae SFara e aur of Oy gel &t i @1 9o orein
HRd &1 fafes wrereil # fasal &1 srer fan

@ (R) ifefde iR e & HRE W) Aeare, ARy, wdieare ik
ﬁ-u&ntﬁr&%m@mﬂﬁﬁﬁ%ﬁﬂ% R H Y@ §1
|
eI IR AT :
. (A)TE R R (R) Tad B
2. (A)TEd e IR (R) T B
3. (A)IR(R) SFITEl
4. (A)IR(R) THITET S
Options:
CAE3E04E227 . 1
CACIE04E228. 2
CACIEE04e2249 2
CAEZEQAEZZ0. 4

Question Number : 184 Question Id : 64635011747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) :  According to Jacob Srampickal, “In folk theatre performances there is

hardly any distinction between audience and the actors.”

Reason(R) : Everyone participates spontaneously.

Choose the correct answer :

Options:

I

.

5.

4.

Both (A) and (R) are false
(A) 1s false and (R) 1s true
(A} 1s true and (R) is false

Both (A) and (R) are true

64535046231, 1
64535046232, 2
EAE3504E6233. 3
E4E35046234. 4



Question Number : 184 Question Id : 64635011747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

INFHYT (A)  SiHd FHNDT $ ER, T TTHY vgiaal J aX@ SR sftEaret &
it WG 8 BT 3R B ¢

& (R) . TA® T 37 Vgiadl # WaTpd 9 H U daT 2 |
T IR AT :

1. (A) ¥R (R) TH Tera &1

2. (A)TEd g 3R (R) 981 31

3. (A)FARIRR) TEAT

4. (A)IR(R) THAITE T

Options:

64535046231,
48350468232,
E4E3504E8233,
4535046234,

o IR

Question Number : 185 Question Id : 64635011748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Stamslavsky advocates, “Spectators come to the theatre to hear the
subtext. They can read the text at home.”

Reason(R) : He reasons that the actor has to create a broken line of inner images,
running parallel to the text like “a static picture constantly passing
over the screen of your inner vision’.

Choose the correct answer :
1.  (A)1s false and (R) 1s true
2. (A)1s true and (R) 1s false
3. Both(A) and (R) are true

4. Both (A) and (R) are false

Options:

64535046235, 1
64535046236, 2
64535046237, 2
4835046238 4



Question Number : 185 Question Id : 64635011748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

IHUT (A) R 1 A ¢ & <@ 3U-us @ g & foe Sr=men ema €1 3

U3 &1 IR R H Ug I%d &
a& (R) . T 9@ ¢ & fimar &t oiafe ofdl @t 39 e & Y @1 3o
ST FIfeY, St U3 @t ke FRR o & 9um gad @ ok omes offdle
fae & e W AR TeRet 2
el I AT :
1. (A)7ad 3R (R) TEt 81
2. (A)FH SR (R) T B
3. (A)R(R) THIERE
4. (A)IR(R) THITEE T
Options:

64535046235, 1
64535046236, 2
EAE3504E8237. 3
EAE35046235. 4

Question Number : 186 Question Id : 64635011749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List—I wath List—II :

List-I List—I1
(a) Kamaluddin Nilu (1) Taiwan
(b) Sineenadh Keit Pra Pai (11) Bangladesh
(¢} Hiroko Nishimura (1m) Japan
(d) Lin Pei-Ann (iv) Thailand

Choose the correct option from those given below :
L (@)@ (b)H1); (c)H11); (d)—(v)
2. (@(i); (b)v); (c)(1iD); (A1)
3. (@), (b)—-v); (), (M-
4. (a)-v); (b)-(u); ()—-1); (d)-1)

Options:



EdE35046239. 1
64535046240, 2
64535046241, 3
64535046242, 4

Question Number : 186 Question Id : 64635011749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 B -1 ¥ gAfed o

-1 g1
(a) BHTGEM i) dmsae
(b) Ry SBawas (i) SreTeRr
(c) e =gy (iii) S
(d) oo (iv) uEds
feu o Ao # T 98 I &1 997 e :
1. (a)-(1); (b)ii); (c)1ii); (d)-(iv)
2. (@)1, (b)H1v); (c)—(iii); (d)—(1)
3. (a)-(ii);, ()-v); (©)-GD); (d-1)
4. (a)-(v); (b)-(iii); (c)-(1); (d)—({1)
2512255;546239. 1
CAEZEN4E240 2

64535046241, 3
64535046242, 4

Question Number : 187 Question 1d : 64635011750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-—II :

List-1 List—II
(a) Laxmi Narayan Lal (1) Hanush
(b) Mudrarakshas (1) Droupadi
(¢) Surendra Verma (i) Marjeeva
(d) Bhisham Sahni (v) Abdulla Diwana

Choose the correct option from those given below :
I (a)-Qi); (b)-(ud); (¢)—1); (D-(v)
2. (@-(w); (b)~); (¢)~1); (D)
3. (@-Qv); (b)), (¢)-1); (D)
4. (@-@); (b)~(1); (c)-(1nn); (A-av)
4655045243, 1
64635046244 2

EdE35046245, 3
EAE3504624E. 4

Question Number : 187 Question Id : 64635011750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

11 1 JIT-11 AT BT
a1 -1

(a) EEH TR A\ i) BHw

(b) YaTEq (i) =ge

(c) grmadl (iii) ARSI

(d) w7 gt (iv)  Sfsgean AT
[T U Ay | | S5t ST &1 99 S :

L (@), (b)(ii); (0)-(1); (d)-v)
2. (a-(un); (b)-(1); (0)-(1); (d)-(1v)
3. (@-(v); (0)-Gw); (¢)-(); (d)-0)
4. (@)-Q); (b)u); (e)-(um); (d)-Gv)

Options:
64535046243, 1



EdE35046244. 2
64535046245, 3
64535046246, 4

Question Number : 188 Question 1d : 64635011751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List—1 with List-II :

List-I List—II

(a) Rhythmuc movement (1) The art of planming and
composing a dance

(b) Choreography (11) The ability to express
feelings through physical
action

(¢) Expressive movement (111) Aninner drive that causes a
person to act a certain way

(d) Motivation (iv) The ability to move to a beat

or pattern of beats

Choose the correct option from those given below :
L. (@-@i); (b)~1); (¢)—1); (D-Qv)
2. (@) (b)(u); (c)iv); (d)-(11)
3. (@-(v); (0)-1); (0)-G1); (d)—(ii)
4. (a)-@); ©)-v); (¢)-(i1); (d)-1)

Options:

64535046247, 1
4535046248, 2
64535046249, 5
64535046250, 4

Question Number : 188 Question Id : 64635011751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a1 -1
(a) TS IEaT (R HEHe () Jd@ & Faem 8k =@
S

D1 Dl

(b) TR @ ITArTH) () wHie fHear & Aew I
Hfadl @1 eiftefad &)
&an

(¢) fafeqote Sae- (iil) TP AR UM, S Afed Bl

(UEDft gaHc) frdt T § g &= @1

SR Bt 8

(d) IR @ifea=m) (iv) o a1 ardl & ieme (Ues)
IR ST B B &l

feu o fAeeul § 2 98 I &1 9= Bifo -

L. (@), ()id); (©)~1); (d—(iv)
2. (@) (b)ii); (o)iv); (d)-(i)
3. (@), (b)) (©-G); (d)-i1)
4. (a)-); (b)1v); (e)-(ui); (d)-{)

Options:

64535046247, 1
64535046248, 2
64535046249 2
4535045250 4

Question Number : 189 Question Id : 64635011752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-II :

List-I List-II
(a) The Importance of Being (1)  Arthur Miller
Earnest
(b) The School for Scandal (11) Oscar Wilde
(¢) The Crucible (111} Richard Brinsley Sheridan
(d) The Bald Soprano (iv) Eugene lonesco

Choose the correct option from those given below :
L (a)-(ui); (b)-(i1); (e)~1v); (1)
2. (@-(v); (b)-(id); (e)-); (d)-G1)
3. (a)-(); (b)(iii); (o)1) (D)
4. (a)-Q); (b)Hin); (¢)-u); (d)-(v)

Options:

64835046251, 1
4535048252 2
64535046252, o
64535046254 4

Question Number : 189 Question Id : 64635011752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 31 1 & GRS

-1 G-I
(a) T 3Hc-4 3P ST 3 i) omR PR

(b) T TRABR &S (i) iR I=TS

(c) T piaad (iii) TS fomaa e

@ T deEIvE (iv) T SR
feu U fAeei H 9 9Et IR H1 99 Bife

L. (), ()d); (e)—1v); ([d)-0)
2. (a)-(v); (b)-(id); (e)-@); (d)-(i)
3. (@), (d){i); (e)~1); (d)-Gv)
4. (a)-); (b)11); (e)(1n); (d)-1v)

Options:



E4E35046251. 1
64535046252, 2
64535046253, 3
64535046254, 4

Question Number : 190 Question Id : 64635011753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match Last—I with List-II :

List—I List—II
(a) Man and Superman (1) Moliere
(b) Doctor Faustus (11) Noel Coward
(¢) Tartuffe (1) George Bernard Shaw
(d) Private Lives (1v) Chrnstopher Marlowe

Choose the correct option from those given below :

L. (a)-Gv); (b)-(ut); (©)-(1); (d)-Q)
2. (a)-(u);, (b)-(v); (¢)-@); (d)—u)
3. (a)-); (b)-(m); (e)1v); (d)-Q)
4. (a1 (b)-1n); (e)1in); (d)—1v)

Options:

64635046255, 1

64635046256, 2

EAE35046257. 3
64535046258, 4

Question Number : 190 Question Id : 64635011753 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



i1 & Y11 9 gritd s
-1 a1

(a) HTUS WA i) HiferR

(b) Sieer BiwH (i) o BEE

(¢) B (i) oSl s=fe 2T

(d) wvrEdc e (iv) freIm ARER
fou e fdwedl § 9 T8t IR &1 99 S

L (a)-v); (b)(iid); (c)-(1); (d)-()
2. (i), (0)1v); (0-Q); (d)-)
3. (@) (b)), (91v); (d)-1)
4. (@@ (0)-); ()-(m); (d-(v)

Options:

64535046255, 1
4835046256, 2
4535048257, 2
64535046258, 4

Question Number : 191 Question Id : 64635011754 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[dentify the correct sequence of the following theatre organisations according to their
geographical locations from South to North

1.  Theatre Academy, Chorus Repertory, Asmita, The Company
2. Theatre Academy, The Company, Chorus Repertory, Asmita
3. Theatre Academy, Asmita, The Company, Chorus Repertory
4. The Company, Asmita, Chorus Repertory, Theatre Academy

Options:

64635046259,

64635046260,

1
2
EAE3504E82E61. 3
EAE35046262. 4

Question Number : 191 Question Id : 64635011754 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Slemr § T B 3R Hifae fufa & uR Fafafed ke e+ & 98 $H 3 ugaH
HITom :

1. e udaH, sy Rordd, s, i so
2. TR s, € Homl, Ha Rorcd, sifer
3. TR e aifem i $oml, kg R
4, fo oo ot oRY Rodd, ke wrsd

Options:

64535046259, 1
64535046260, 2
64535046261, 2
4835046262, 4

Question Number : 192 Question Id : 64635011755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct sequence of the following directors according to their geographical
locations from North to South.

1.  Bapi Bose, Goutam Halder, C. Basavalingaiah, Chandradasan
2. Goutam Halder, Bap1 Bose, C. Basavalingaiah, Chandradasan
3.  Goutam Halder, C. Basavalingaiah, Chandradasan, Bapi Bose

4. Goutam Halder, Bapi Bose, Chandradasan, C. Basavalingaiah

Options:
E4AE2E04E285. 1

EAE3504E6264. 2
EAE35046265. 3
BAE35046266. 4

Question Number : 192 Question Id : 64635011755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



I I e @ o Yiifers Rufy & oFeR Fafafea Five! & 98 ®9 @t ugem
BT

1. 9 95, TdH BTeeR, 3. swarel, dEer
2. TG gIEeER, St 95, S seare, deere
3. T SRR, T, SHar, SEer, adt
4. T TIEER, S0t 919, SRar, 9 SSETea

Options:

4835046263, 1
E4E3504E8264. 2
64535046265, o
4535046266, 4

Question Number : 193 Question Id : 64635011756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the correct sequence of “Mechamisms of voice production’ :
1. WVibrator, Motor, Articulatory, Resonator
2. Motor, Vibrator, Resonator, Articulatory
3. Articulatory, Vibrator, Resonator, Motor

4. Motor, Resonator, Vibrator, Articulatory

Options:

4535046267, 1
64535046268, 2
64535046269 2
E4E35046270. 4

Question Number : 193 Question 1d : 64635011756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= IRy & A (OB E FaT TSeaRm) 1 9ol H9 gu :
L IR @SSy, 499 (FITY), SERURES (SMigpaed), e (Siey
2. S (FITY, PIRH @ESITY), HFTEP (ST, THARUTES (Mepacd)
3. SRS (P, HIRm @Ra), SRk Reies), 496 @)
4. HEF (HICY, HTFED (S, HIEH @R, 3D (Mg

Options:




EAE35046267. 1
64535046268, 2
64535046269, 3
64535046270, 4

Question Number : 194 Question Id : 64635011757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Choose the correct sequence of the ‘Elements of an Action” developed by Stanislavski :

1. Truth and Belief, Commumnion, Adaptation, Tempo-Rhythm
2. Communion, Truth and Belief, Tempo-Rhythm, Adaptation
3. Adaptation, Communion, Truth and Belief, Tempo-Rhythm

4.  Tempo-Rhythm, Adaptation, Communion, Truth and Belief
Options:
64635046271, 1
64635046272, 2
64635046273, 3
64635046274, 4

Question Number : 194 Question Id : 64635011757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LT ! g1 e ‘Tlim=y 31t U5 TeR & 95! %4 &I g

1. %ﬁm{?ﬁm,mm,W{mx ad-aa
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Options:
4535046271 1

EAEZ504E6272. 2
EAE35046273. 3
BAE35046274. 4

Question Number : 195 Question Id : 64635011758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Choose the correct sequence 1n the context of their geographical origin from East to
West :

1.  Moscow Art Theatre, Polish Theatre Laboratory, Berlin Ensemble, Theatre
Libre

2 Moscow Art Theatre, Berlin Ensemble, Theatre Libre, Polish Theatre
Laboratory

3.  Moscow Art Theatre, Theatre Libre, Berlin Ensemble, Polish Theatre
Laboratory

4. Moscow Art Theatre, Polish Theatre Laboratory, Theatre Libre, Berlin
Ensemble
Options:
64635046275, 1
64635046276, 2
64635046277, 3
64635046278, 4

Question Number : 195 Question Id : 64635011758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535046275, 1
E4E3504E276. 2
E4E3504E277. 2
4535046275, 4

Sub-Section Number: 2
Sub-Section 1d: 646350555
Question Shuffling Allowed : Yes

Question Id : 64635011759 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cuesticon Label | Comprehiension



Direction : Read the passage given below carefully and answer the questions {Question
Nos. 146 to 150) that follow :

In attempting to assemble a history of the practices of Indian theatre, we face a double
problem. There is little archacology of theatre forms when compared to the number of forms
that exist. Thus there may be rich detail available for one form and almost nothing for
another. Our levels of textualizing performance are varied. For example Kutiyattam, the only
traditional form of Sanskrit drama surviving in India today. The Cakyars have been
performing this obligatory duty since the minth century; Kutiyattam is then at least a thousand
years old. Ascaryacudaman attributed to Saktibhadra who believed to have lived in the late
o™ or early 10" century is one of the most important texts of Kutiyattam. A companion
production mamual Ascaryacudamaniyute Kramadipika is still extant and gives a scene-by-
scene for production. In comparison, the dance form, Bharata Natyam, has been reconstructed
for the use of the Indian mddle class, only 1n the 1930s and 1940s. Today it 1s the very
standard of national culture, the almost sole custodian of the essence of India.

Sub questions

Question Number : 196 Question Id : 64635011760 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Cakyars are performing Kutiyattam from
1. 10" century
- o century
3. o century

d, &9 century

Options:

64535046279, 1
64535046280, 2
64835046281, 2
4535045282 4

Question Number : 197 Question Id : 64635011761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Bharata Natyam was reconstructed for the use of Indian middle class during

1. 1910-1915
2. 1920-1925
3. 1900-1910
4. 1930-1940

Options:



EAE35046283. 1
64535046284, 2
64535046285, 3
64535046256, 4

Question Number : 198 Question Id : 64635011762 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Kutiyattam is as old as

L. 1000 years

2.2 100 years
3. 500 years
4. 50 years

Options:

64535046287, 1
4835046288, 2
4535046289 2
64535046290, 4

Question Number : 199 Question Id : 64635011763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The production manual of Kufiyattam 1s known as
1. Choodamamn
2. Nntya Choodamani
3. Ascaryacudamaniyute Kramadipika

4. Ascharya Chintamam

Options:

64835046291, 1
64535046292, 2
64535046292, o
64535046294, 4

Question Number : 200 Question Id : 64635011764 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The only traditional form of Sanskrit drama is
1.  Bharata Natyam
2.  Kufiyattam

3. Kathakali

4. Yakshagana

Options:

4635046295, 1
64535046296, 2
64535046297, =
64535046295, 4

Question Id : 64635011759 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Juestion Label - Comprehension
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Sub questions

Question Number : 196 Question Id : 64635011760 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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1. 10df Tam!
2. 7df want
3. odi wamat
4. oot gt

Options:



EAE35046273. 1
64535046280, 2
64535046281, 3
64535046282, 4

Question Number : 197 Question Id : 64635011761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fraferiad afl & SR YR & 7eH a1l & o wRaTeam &t 7 R 3 §ar o mn

1.  1910-1915
2. 1920-1925
3. 1900-1910
4. 1930-1940

Options:

4535046283, 1
64535046284, 2
64535046285 =
645350462586, 4

Question Number : 198 Question 1d : 64635011762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
PleATSH TR & -
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—

Options:

4635046287, 1
64535046288, 2
64535046289 =
64535046290, 4

Question Number : 199 Question Id : 64635011763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535046291, 1
64535046292, 2
64535046293 =
64535046294, 4

Question Number : 200 Question 1d : 64635011764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T d 1P BT THHA TR ¥ 8

. “Ra=caq
2. PleamEH
3. @YDl

4. JETH

Options:

64535046295, 1
64535046296, 2
64535046297, 2
4835046298 4



